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    SET-I 
              SOCIOLOGY 
               A- Soc (opt) 
 

(Time 3 Hours  15 Minutes)                                Marks 100)
 

Instructions to the candidate- 
1.  
     Candidate are requested to give their answers in their own words as for as possible. 

     Figures in the right hand margin indicate full marks. 

Write groups number and questions number with every answers.

4.   General Instruction- 
            The paper consists of three group i.e. A, B and C. All questions of all group compulsory. 
Group  A  :   All the  40 question  are  to be answered in group A. Each question carries 1 mark. 
Group  B   :  Answer all the 10 questions  in group B. Each question carries 3 marks. 
Group  C :  Answer all the five question in group  C.  Each question carries 6 marks. 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 



 
 
                         

  
                        Group- A 
                                          (Objective Type Questions) 
  

Answer  each question by selecting the correct choice. 
 

 1.

 Who said, "Society is the network of social relationships". 
        (a)  Spencer     (b)     Maciver & Page    
         (c)  Parsons     (d) None. 
 2.

 Who gave the concept of sanskritization? 
        (a)  Karl Marx     (b) Auguste Comte   
        (c)   Ward      (d) Shriniwas. 
 3.  

 Who is known as father of Sociology ? 
        (a)  Spencer          (b)  Jonson    
       (c)    Max Weber     (d)      Auguste Comte. 
 4.

¼¼

 Who was the leader of Santhal movement ? 
        (a)  Birsa Munda   (b)  Jatra Bhagat   
       (c)    Sidho-Kano    (d)     None. 
 
 



  
 5.

¡

 Who said, "Politics is a science of power". 
          (a)   Max Weber      (b) Karl Marx    
         (c)    Mahatma Gandhi    (d) Jawahar Lal Nehru. 

 6.

 'Caste and class in India' Book is written by ? 
        (a)  I.P. Desai    (b)  A.R. Desai   
        (c)  B.R. Chauhan         (d)       G.S. Ghurye. 
 7.

 Who described Sociology as a science of society? 
               (a)   Ward    (b)  Parsons    
        (c)    Millar     (d)  None. 
 8.

 In which state silent valley is situated. 
        (a)  Kerala        (b)  Bihar    
      (c)  Andhra Pradesh    (d)  Uttar Pradesh. 
 9.

 Sundarlal Bahuguna is related with-  
        (a) Tribal movement  (b) Santhal movement   
       (c)  Chipko movement    (d)  Peasant movement. 
 10.



 In which year 'The Servants of India Society' was established ? 
        (a)  1900     (b) 1905    
       (c)    1919       (d) 1930. 
 11.  

¡

 What is the model of Indian system of economy ? 
        (a)  Socialistic    (b)  Capitalistic    
       (c)    Communistic    (d)        None. 
 12.

 Which article is related with primary education? 
        (a)  Article-5    (b)  Article-17    
        (c)  Article-18      (d)       Article-45. 
 13.

 Who was the chairman of second backward commission ? 
          (a)   Ram Manohar Lohiya  (b)  B.P. Mandal  
         (c)   Mungeri Lal      (d)  None. 

 14. ª ª

 In which year International women year is declared by U.N.O.?  
        (a)  1971      (b)   1975    
        (c)  1977      (d)  1980 
 15.

 Which among the following is the new State of India ? 
               (a)   Jharkhand    (b)  Uttar Pradesh    
         (c)    Telangana              (d)  Andhra Pradesh. 
  
 



 16.
% %
% %

 What percentage of seats are reserved for backward  classes in government job in 
Bihar  ? 

        (a)  12%        (b)  15%    
        (c)  20%      (d)        25%. 

17.
ª

 Who announces Lok Sabha election in India ? 
        (a)  Government       (b)  President  
        (c)    Election Commission         (d)    Primeminister. 
 18.

 Green revolution is relatedwith- 
        (a)  Sugar production     (b)    Vegetable prodction    
        (c)    Energy production   (d)    Food production. 
 19. ¼¼  

 Who gave Brahmanic theory of caste system ? 
        (a)  Nesfield      (b)  Blunt    
        (c)   G.S. Ghurye   (d)        None. 
 20.

Who was the founder of Prarthana Samaj ?
        (a)  Mahatma Gandhi      (b) Raja Ram Mohan Roy    
       (c)    Dayanand Sarswati            (d)  Mahadeo Govind Ranade. 
 21.



 
 Which out of these is not the feature of  rural community ? 
          (a)   Agriculture   (b) Religion    
         (c)    Individality         (d)  Low desnity of population. 

 22.

 Vinoba Bhave is associated with which movement ? 
        (a)  Peasant    (b)  Bhudan    
        (c)   Student        (d)        Dalit. 
 23.

 Which one of the following is not a caste ? 
               (a)   Vaishya    (b)  Rajput    
        (c)     Kahar      (d)  Mallah. 
 24.

ª

¡

 Colonialism is related with - 
        (a)  Nationalism      (b)  Terrorism   
       (c)    Castism                  (d)        Capitalism. 
 25. ª

¡

¡

 Who was the firstwomen chairman of Indian National Congress ? 
        (a)  Annie Besent    (b)  Indira Gandhi    
        (c)  Sonia Gandhi      (d)        None. 
 26.

 What is the main basis of social stratification in India ? 
        (a)  Class    (b)  Varna    
       (c)   Caste                        (d)   Religion. 
 



 27.  

 Which of the following state is high desnity of population ? 
        (a)  Bihar    (b)  Arunachal Pradesh    
        (c)  Assam     (d)   Jharkhand. 
 28. ¡

 In which year 73th constitution amandment act was Passed ? 
        (a)  1990     (b)  1992     
        (c)  1985       (d)  2000. 
 29.

 What is the meaning of religion ? 
          (a)   Belief in nature      (b)  Belief  in rivers   
         (c)    Belief in supernatural  power            (d)  None. 

 30.

 Which  day is celebrated as environment day ? 
        (a)  5 June   (b)  10 June   
       (c)    11 July  (d)   1 December  
 31. 

 Which sociologist out of the following defined the concept of dominant caste ? 
        (a)  Yogendra Singh   (b)  K.L.Sharma    
        (c)   Sriniwas   (d)       B.R.Candan. 
 32. 



 Which  of the following is a form of religion in tribe ? 
        (a)  Brahminism    (b) Totamism   
         (c)  Both   (d)  None. 
 33. 

 Which of the following is/are the factor/factors of westernization ? 
        (a)  Radio    (b) Television   
       (c)    Newsspaper   (d)  All 
 34. 

  Family is an example of- 
        (a)  Primary group    (b) Secondary group  
        (c)  Both   (d)  None. 
 35. 

¡

 The slogan 'Do or die' related with- 
        (a)  Mahatma Gandhi    (b)  Subhash Chandra Bose   
        (c)  Rjendra Prasad     (d)  All. 
 36. 

 Which  of the following is a state ? 
        (a)  Bihar    (b)  New Delhi    
        (c)   India   (d)  All. 
 37. 

 Who said,'' Urbanism is a way of life" ?  
        (a)    Sorokin    (b)  Jonson   
        (c)    Maciver   (d)        None. 
 



 
 38. 

 Balwant Roy Mehta samiti is associated with -  
               (a)  Tribal movement     (b)  Dalit movement    
         (c)   Panchyati Raj     (d)      Peasant movement. 
 39. 

 Primary education is related with- 
  (a)   Fundamental right    (b)  Fundamental  duty 
  (c)  Directive principle   (d)  All. 

 40. 

How many are elements of the state? 
         (a)  2    (b)    3   
         (c)  4    (d)    5 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 
                             Group- B 

 
Short  answer type questions 

1 10 03  
Question nos.  1 to 10 are short answer typequestion. Each question carries 3 
marks.             

 1.
What is culture ? 

 2.
What do you mean by caste ? 

3.
Discuss the meaning of joint family.

4.
Define westernization. 

5.
Explain main features of tribe. 

6.
Discuss the concept of environment. 

7.
What is rural community ? 

8.
What do you mean by globalization ? 

9.
Discuss the means of mass media. 

10.
What do you mean by women impowerment ? 

 
 
 

                    
 
 
 
 
  
 
 
 
 
 
 



 

          Group- C 
 

 
Long  answer type questions 

11 15 06  
Question nos.  11 to 15 are long answer type questions. Each questions carries 06 
marks.                                              

 
  
 11.

Discuss the fundament duties. 
 12. 

Explain merits and  demerits of  panchati raj system. 
 13. 

What do you mean by regionalism? 
 14. 

Explain diferences between rural and urban community. 
 15. 

Explain the steps of project work. 
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    SET-II 
               SOCIOLOGY 
                A- Soc (opt) 
 

(Time 3 Hours  15 Minutes)                                Marks 100)
 

Instructions to the candidate- 
1.  
     Candidate are requested to give their answers in their own words as for as possible. 

     Figures in the right hand margin indicate full marks. 

Write groups number and questions number with every answers.

4.   General Instruction- 
            The paper consists of three group i.e. A, B and C. All questions of all group compulsory. 
Group  A  :   All the  40 question  are  to be answered in group A. Each question carries 1 mark. 
Group  B   :  Answer all the 10 questions  in group B. Each question carries 3 marks. 
Group  C :  Answer all the five question in group  C.  Each question carries 6 marks. 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 



 
 
                         

  
                        Group- A 
                                          (Objective Type Questions) 
  

Answer  each question by selecting the correct choice. 
 

 1.

 Who said, "Sociology is the science of social group" ? 
        (a)  Auguste Comte    (b) Ward    
        (c)    Max Weber      (d)  Jonson. 
 2.

 Which one of the following is the biggest religious group in India. 
        (a)  Muslim    (b) Sikh   
        (c)   Christian   (d) All. 
 3.  

¡

 Who was the founder of Sawarmati Ashram?  
        (a)  Mahatma Gandhi    (b) Vivekanand 
       (c)  Swami Dayanand    (d)  Raja Ram Mohan Roy. 
 4.

 When did new education Policy launch ? 
        (a)  1980   (b)  1982    
        (c)    1986     (d)  1990. 
  
 



 
 5.

¡

 Dandi Yatra is related with- 
          (a)   Rajendra Prasad   (b) Mahatma Gandhi    
         (c)    Subhash Chandra    (d) None. 

 6. ¼¼

 Who gave racial thory of caste system ? 
        (a)  G.S. Ghurye    (b)  Blunt   
        (c)  Gandhijee     (d)  None.  
 7.

 When did India become  republic ? 
               (a)   14 August 1947   (b)  15 Aug. 1948 
        (c)  26 Jan. 1950      (d)  15 Aug. 1950. 
 8.

 Who among the following is known as father of green revolution ? 
        (a)  Mahatma Gandhi     (b) Gurudatt Swami   
       (c)    Norman Borlog            (d) None. 

9.

 Which article is related with fundamental duties ? 
        (a)  Article-5  (b)  Article-25  
       (c)  Article-30           (d)   Article-51 (A) 
 10.



 Which one of the following is not catalyst of green  revolution ? 
        (a)  Hybrid Seeds   (b) Irrigation   
       (c)   Fertilizer    (d) Rain 
 11.  

 Which one of the following is a community ? 
        (a)  Urban    (b)   School  
       (c)     Religion                   (d)   Political Party . 
 12.

 When did Sharda Act Pass ? 
        (a)  1921     (b)  1929    
              (c)     1942        (d)  1947. 
 13.

 Who is related with  self respect movement ?  
          (a)   Ramaswami Naykar   (b) Mohan Das  
          (c)  Tilak      (d) None. 

 14.

 Which one of  the  family is favourable for agricultutre ? 
        (a)  Joint Family     (b)  Extended Family   
        (c)    Single Family       (d)  All. 
 15.

 When did Arya Samaj establish ? 
               (a)   1857    (b)  1875    
        (c)  1885      (d) 1890  
  
 



 
 16.

 Globlization is related with- 
        (a)  Liberlization        (b)  Privatization    
       (c)     Both      (d)     None. 
 17.

 Who has given the concept of rural-urban continuum ? 
        (a)  A.R. Desai     (b) Sorokin  
       (c)      Redfield                  (d)  Shyamacharan Dubey 
 18.

 Which one of the following is an agency of scoial control ?  
        (a)  Family    (b) Religion    
         (c)   Tradition        (d)    All. 
 19.  

 Which religion has the characteristics of polytheism ? 
        (a)  Hindu      (b)  Muslim   
       (c)     Sikh   (d) Jain. 
 20.

Who produced the concept "Division of labour" ?
        (a)  Max Weber    (b) Durkheim  
       (c)     Sorokin     (d)  Karl Max. 
 21.



 Which one of the following  factor is responsible of  scoial change ? 
          (a)   Education   (b) Technology   
          (c)  Urbanization    (d)  All. 

 22.

 Kinship is related with- 
        (a)  Birth     (b)  Marriage   
       (c)     Both       (d)  None. 
 23. ª

 In which year U.N.O. was  established ?  
               (a)   1925    (b)  1930    
        (c)  1940      (d)  1945. 
 24.

 Panchyatiraj system is- 
        (a)  Decentralization of power     (b)  Centralizationof Power   
        (c)    Both          (d)  None. 
 25.

 What is the main cause of overpopulation in India ? 
        (a)  Education     (b)  Technology   
        (c)   Socio-cultural factor              (d)  All. 
 26. 

 Untouchability has been Prohibited under which article of Indianconstitution ? 
        (a)  Article-15   (b)  Article-16   
       (c)    Article-17    (d) Article-18. 



 27. ª  

 Which is the hardle of national integration ? 
        (a)  Regionalism    (b)  Communilism    
       (c)     Both    (d)  None.  
 28.

 Who established 'Satya Shodhak Samaj' ? 
        (a)  Dayanand      (b) Tilak    
       (c)    Jyotiba  Phoole           (d) Ambedkar. 
 29.

 Nayartribe related with- 
          (a)   Bihar    (b) Jharkhand  
          (c)  Goa       (d)  Kerala. 

 30.

 Which one of the following is a labour organisation ? 
        (a)  B.M.S.    (b)  B.S.P.    
        (c)    S.P.    (d)  J.D.U. 
 31.

 What is meaning of demography  ? 
        (a)  Study of environment   (b)  Study of  village   
        (c)   Study of land     (d)     Study of  population. 
 32.

  



 What is an institution ? 
        (a)  Group   (b)   Crowd   
        (c)    Association (d)     Set of rules 
 33.

 Jharkhand Mukti Morcha  is related with which movment ? 
        (a)  Dalit movement   (b)  Tribal movement   
        (c)    Peasant movement (d)     Student movement  
 34.

 What is a market ? 
        (a)  Group    (b)  Crowd   
        (c)    Pressure group  (d)        Institution. 
 35.

¡

 Who is the father of  peasant movement ? 
        (a)  Dyanand Saraswati     (b) Sahjanand Saraswati  
        (c)    Mahatma Gandhi   (d)    Patel. 
 36.

 Which of the following is known as Black  era in Indian history ? 
        (a)  Vedic  Period     (b)  Middle Period  
        (c)   British Period   (d)     None. 
 37.

 When did Hindu Marriage Act Pass ? 
        (a)  1952   (b)  1955   
        (c)    1960 (d)    1965 
  
 



 
 38.

 Computer is related with - 
        (a)  Modernization       (b)  Sanskritization   
        (c)   Both   (d)    None. 
 39.

 Who has given a concept of dominat caste ? 
         (a)  Striniwas    (b)  P.N. Parbhu    
        (c)   Majmudar  (d)        None. 
 40.

 Which is an open system  ? 
        (a)  Varna    (b)   Class      
        (c)    Both  (d)    None. 
   
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

                             Group- B 
 

Short  answer type questions 
1 10 03  

      Question nos.  1 to 10 are short answer typequestion. Each question carries 3 
marks.     

 1. ª

What do you mean by nationalism ? 
 2.

Explain the meaning of community. 
3.   

What is middle  class ?
4.

Explain the tribal community. 
5.

Discuss difference between varna and caste. 
6.

Explain cultural characteristics of caste system . 
7.

What do you mean by sanskritization? 
8.

What is industrialization ?  
9.

What is the meaning of   democratic decentralziation ? 
10.

Write a note on environmental degradation. 
 
 
 
 

 



 
Group- C 

 
 

Long  answer type questions 
11 15 06  

Question nos.  11 to 15 are long answer type questions. Each questions carries 06 
marks.

 
      11.

Discuss the democratic bases of State in India. 
      12. 

Explain  the  causes of colonial rule in India. 
 13. 

Explain the objectives of land reforms.  
       14. 

Discuss urban problems in India. 
       15. 

What is minority ? Discuss the constitutional  rights of minority. 
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    SET-III 

               SOCIOLOGY 

                A- Soc (opt) 

 
le;% 3 ?kaVk 15 feuV A                    iw.kaZkd&100 

(Time 3 Hours  15 Minutes)                                (Marks 100)  

ijh{kkFkhZ ds fy, funsa'k& 

Instructions to the candidate- 

1.  ijh{kkFkhZ ;FkklaHko vius 'kCnksas esa gh mÙkj nsaA 

     Candidate are requested to give their answers in their own words as for as possible.  

2- nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

     Figures in the right hand margin indicate full marks.  

3- ijh{kkFkhZ izR;sd mÙkj ds lkFk [k.M la[;k vkSj iz'u la[;k vo'; fy[ksaA 

  Write groups number and questions number with every answers. 

4- lkekU; funsZ';& 

 bl iz'u i=k esa rhu [k.M ^v*] ^c* vkSj ^'k* gSaA lHkh [k.M ds lHkh iz'u vfuok;Z gSA 

[k.M v% [k.M&v ds lHkh 40 iz'uksa ds mÙkj nsaA 

[k.M c% [k.M&c esa fn;s x;s lHkh 10 iz'ukasa ds mÙkj nsaA izR;sd iz'u ds fy, rhu vad gSA 

[k.M l% [k.M&l esa fn;s x;s lHkh 5 iz'uksa ds mÙkj nsaA izR;sd iz'u ds fy, N% vad gSA 

4.   General Instruction- 

            The paper consists of three group i.e. A, B and C. All questions of all group compulsory. 

Group  A  :   All the  40 question  are  to be answered in group A. Each question carries 1 mark. 

Group  B   :  Answer all the 10 questions  in group B. Each question carries 3 marks. 

Group  C :  Answer all the five question in group  C.  Each question carries 6 marks. 

    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 



 

 

                         [k.M&v 

         (oLrqfu"B iz'u)  

                        Group- A 

                                          (Objective Type Questions) 

  

lHkh fodYi dk p;u djrs gq, izR;sd iz'u dk mÙkj nhft,A 

Answer  each question by selecting the correct choice. 

 

 1. vkWxLr dkSar ls dkSu ns'k lacaaf/r gS \ 

     (d)  fczVsu     ([k)  vesfjdk   

    (x)   izQakl        (?k)  teZuh 

 Which Country is related with Auguste Comte ? 

        (a)  Britain     (b)  America    

        (c)     France            (d)   Germany. 

 2. lekt'kkL=k laacaf/r gS& 

       (d)  vkS|ksfxd Økafr   ([k)  izQkaalhlh Økafr    

      (x)   nksuksa    (?k)  buesa ls dksbZ ugha 

 Sociology is related with- 

        (a)  Industrial revolution     (b)    French revolution   

       (c)     Both      (d)   None. 

 3. lekt dh izd`fr D;k gS \ 

       (d)  ewÙkZ    ([k)  vewÙkZ   

       (x) nksuksa    (?k)  buesa ls dksbZ ugha 

 What is the nature of society ? 

        (a)  Concrete         (b) Abstract    

        (c)   Both  (d)  None. 

 4. izkFkfed lewg dh vo/kj.kk fdlus nh gS \  

       (d)  ikjlUl     ([k)  lksjksfdu   

      (x)  lh-,p- dwys     (?k)  buesa ls dksbZ ugha 

 Who  has  given the concept of  primary group  ? 

        (a)  Parsons       (b) Sorokin     

        (c)  C.H. Cooley  (d)  None. 

 

 



 

5. Hkkjr esa lkekftd Lrjhdj.k dk D;k vk/kj gS \  

       (d)  tkfr   ([k)  o.kZ   

      (x)  oxZ    (?k)  lHkh  

 What is the basis of social stratification in India ? 

          (a)   Caste     (b)  Varna   

         (c)   Class      (d)  All. 

 6. bueas ls dkSu Hkkjr esa lkekftd ifjoÙkZu dk vkUrfjd dkjd gS \ 

       (d)  if'pehdj.k    ([k)  laLd`frdj.k   

      (x)  vk/qfudhdj.k    (?k)   lHkh  

 Which of the following is a internal factor of  social  change in India ?  

        (a)  Wseternization    (b)  Sanskritization   

        (c)    Modernization     (d)      All.  

 7. ukrsnkjh laacaf/r gS& 

       (d)  tUe   ([k)  fookg   

      (x)  nksuksa    (?k)  buesa ls dksbZ ugha 

 Kinship is related with- 

               (a)   Birth    (b)  Marriage   

        (c)    Both      (d)  None. 

 8. lkekftd ifjoÙkZu D;k gS \ 

       (d)  lekt esa ifjorZu              ([k)  ns'k esa ifjoÙkZu  

      (x)  lkekftd lajpuk ,oa izdk;Z esas ifjoÙkZu   (?k)  ifjokj esa ifjorZu 

  What is social change ? 

        (a)  Change in society       (b)  Change in country  

        (c)    Change in social structure &function       (d)   Change in family. 

9. dkSu vuqPNsn iapk;rhjkt O;oLFkk ls lacaf/r gS&  

     (d)  vuqPNsn&30   ([k)  vuqPNsn&40   

     (x)  vuqPNsn&45       (?k)   vuqPNsn&50 

 Which article is related with Panchayati System ? 

        (a) Article-30  (b) Article-40  

       (c)  Article-45    (d) Article-50 

 10. ifjokj D;k gS \ 

       (d) izkFkfed lewg    ([k)  f}rh;d lewg   

      (x)  ncko lewg      (?k)  lHkh 



 What is a family ? 

        (a)  Primary Group   (b) Secondary Group  

        (c)    Pressure group   (d) All. 

 11. Hkkjr dh Lora=krk dk laca/ fdl ;kstuk ls gS \ 

       (d)  fØIl ;kstuk   ([k)  ososy ;kstuk   

      (x)  ekmUVosVu ;kstuk   (?k)  lHkh 

 Which  place is related with independance of India ? 

        (a)  Crips Plan      (b) Vebel Plan  

       (c)     Mountvetan Plan     (d)  All. 

 12. Hkkjrh; jk"Vªh; dkaxzsl dh LFkkiuk fdl o"kZ gqbZ \  

       (d)  1980   ([k)  1982   

      (x)  1883    (?k)  1885 

 In which year Indian national congress was established ? 

        (a)  1880    (b)   1882   

        (c)    1883     (d)  1885. 

 13. Hkkjr esa dkSu vYila[;d lewg lcls NksVk gS \  

       (d)  flD[k   ([k) bZlkbZ  

      (x)   eqfLye    (?k) ikjlh 

 Which is the smallest minority group in India ? 

          (a)   Sikh    (b) Mohan Das   

         (c)  Tilak    (d) None. 

 14. Hkkjr fdl o"kZ x.kra=k cuk \ 

       (d)  1947   ([k)  1948   

      (x)  1949    (?k)   1950 

 When did India become  republic ?  

        (a)  1947    (b)  1948   

       (c)   1949    (d)  1950. 

 15. ^vk;Z lekt* dh LFkkiuk fdlus dh \  

       (d) jktkjke eksgu jk;  ([k)  Lokeh n;kuUn ljLofr  

      (x)  egkRek xk¡/h       (?k)  tokgj yky usg: 

 Who established 'Arya Samaj' ? 

               (a)   Raja Ram Mohan Roy   (b)  Swami Dayanand sarswati 

        (c)     Mahatma Gandhi                (d)  Jawahar Lal Nehru 

 

 



 16. ekSfyd vf/dkj gSa& 

       (d)  6   ([k) 7   

      (x)   8   (?k)  9 

 Fundamental rights are-  

        (a)  6       (b)  7   

        (c)    8         (d)   9. 

 17. ^tkfr ,d cUn oxZ gS*] fdlus dgk gS \ 

     (d)  vkWxLV dkSar    ([k)  ';kekpj.k nqcs   

    (x)  bjkorh dkosZ    (?k)  etwenkj ,oa enku 

 Who said, "Caste is a closed class" ? 

        (a)  Auguste   Comte     (b) Shymacharan Dubey  

         (c)    Iravati Karve      (d)  Majumdar & Madan. 

 18. bjkorh dkosZ ds vuqlkj] la;qDr ifjokj lacaf/r gS& 

       (d)  nks ih<+h   ([k)  rhu ih<+h   

         (x)  pkj ih<+h  (?k)  ik¡p ih<+h 

 Accodring to Iravati  Karve,  joint family is related with- 

        (a)  Two Generation     (b) Three Generation  

        (c)     Four Generation     (d)  Five Generation. 

 19. izFke fiNM+k oxZ vk;ksx ds vè;{k dkSu Fks \ 

       (d)  ch-ih- eaMy     ([k)  ch- ,u- eaMy  

       (x)  dkdklkgsc dkysydj   (?k) diwZjh Bkdqj  

 Who was the chairman of  first backward class commission ? 

        (a)  B.P. Mandal        (b)  B.N. Mandal   

       (c)     Kakasaheb  Kalelkar               (d)       Karpuri Thakur. 

 20. ^lkslk;Vh* uked iqLrd dh jpuk fdlus dh \ 

       (d)  LisUlj     ([k)  eSDl osoj   

      (x)  dkyZ ekDlZ    (?k) esdkboj ,oa ist 

      Who wrote the book "Society" ? 
        (a)  Spencer    (b) Max Weber  

        (c)    Karl Marx   (d)  Maciver & Page. 

 21. tukafddh dk vFkZ gS \ 

       (d)  tula[;k dk vè;;u  ([k)  i;kZoj.k dk vè;;u  

      (x)  tura=k dk vè;;u        (?k)  lHkh 

  



 

 What is meaning of  demography  ? 

          (a)  Study of  Population    (b)  Study of Environment  

          (c)   Study of  Democracy           (d)  All. 

 22. fuEu esa ls dkSu lkekftd leL;k gS \ 

       (d)  izse fookg   ([k)  fHk{kko`fÙk   

      (x)  uxjhdj.k     (?k)  buesa ls dksbZ ugha 

 Which among the following is a social problem ? 

        (a)  Love marriage     (b)  Beggary    

       (c)    Urbanization        (d)  None. 

 23. fuEu esa ls dkSu jkT; mPp tula[;k ?kuRo ls laacaf/r gS \ 

       (d)   mÙkj izns'k     ([k)  fcgkj   

       (x)  dsjy      (?k)  if'pe caxky 

 Which state among the following is related with high density of  population ?  

               (a)   Uttar Pradesh     (b)  Bihar     

        (c)     Kerala               (d)  West Bengal. 

 24. laFkky fonzksg izkjaHk gqvk& 

       (d)  1850   ([k)  1852   

      (x)  1853    (?k)  1855 

 Santhal movement started- 

        (a)  1850          (b) 1852   

       (c)     1853     (d)  1855. 

 25. laLFkk dk D;k vFkZ gS \ 

     (d)  fo|ky;    ([k) lewg   

    (x)  fu;eksa dk lewg    (?k)  dksbZ ugha 

 Insitution   menas ? 

        (a)  School      (b)  Group     

       (c)     Set of rules      (d)   None. 

 26. fcjlk eaqMk dk laca/ gS&  

       (d)  fdlku vkUnksyu    ([k)  lkE;oknh vkUnksyu   

      (x)  etnwj vkUnskyu               (?k)  tutkfr vkUnksyu 

 Birsa Munda is related with- 

        (a)  Peasant movement              (b)    Commuist movement   

        (c)    Labour  movement             (d)     Tribal movement. 

  



  

 27. lkekftd lajpuk dh vo/kj.kk dks fdlus izLrqr fd;k \ 

       (d) vkWxLV dkSar   ([k)  Lisalj  

      (x)  ikjlUl    (?k)  dksbZ ugha 

 Who has given the concept of  social  structure ? 

        (a)  Auguste Comte    (b)  Spencer    

       (c)    Parsons      (d)   None.  

 28. buesa ls fdldks iztkra=k dk pkSFkk LrEHk dgk tkrk gS \ 

       (d)  izsl    ([k)  ljdkj   

       (x)  nksuksa   (?k)  dksbZ ugha 

 Which among the following is forth Pillar of democracy ? 

        (a)  Press      (b)  Government     

        (c)     Both        (d)  None. 

 29. fuEu esaa dkSu ,d laLFkk gS \ 

       (d)  xkao    ([k)  ns'k    

      (x)  fo|ky;    (?k)  fookg 

 Which one  of the following is an institation ? 

        (a)  Village      (b) Country    

        (c)    School        (d)  Marriage. 

 30. Hkkjrh; jk"Vªh; dkaxzsl dh LFkkiuk fdlus dh \ 

       (d)  egkREkk xk¡/h   ([k)  ekssrhyky usg: 

       (x)  jktsUnz izlkn   (?k)  ,-vks- áwe 

 Who established Indian National Congress. 

        (a)  Mahtma Gandhi    (b) Moti Lal Nehru   

       (c)    Rajendra Prasad                     (d)  A.O. Hume. 

 31. iapk;rhjkt esas lcls fuEu bdkbZ gS \ 

       (d)  xzke iapk;r      ([k)  ftyk ifj"kn~ 

       (x)  eqf[k;k   (?k)  dksbZ ugha 

 The lowest unit of  Panchayati Raj System  is ? 

        (a)  Gramm  Panchyat       (b)   Zila Parishad    

        (c)    Mukhiya       (d)    None. 

 32. laLd`frdj.k dh vo/kj.kk fdlds }kjk nh xbZ gS \ 

        (d)  ekYFkl   ([k)  egkRek xka/h  

       (x)  Jhfuokkl  (?k)  dksbZ ugha 



    Who has given the concept of  'Sanskritization' ? 

        (a)  Malthus    (b)  Mahatma Gandhi 

        (c)   Sriniwas  (d)        None. 

 33. gfjr Økafr dk mRizsjd dkSu gS \ 

       (d) ufn;ka    ([k)  mitkÅ tehu   

      (x)  o"kkZ      (?k)  ladfjr cht 

 Which is the catalyst of green revolution. 

        (a)  Rivers   (b)  Fertile land    

        (c)    Rain        (d)   Hybrid seeds. 

 34. fuEu esa ls dkSu leqnk; dk mnkgj.k gS \ 

       (d)  fo|ky;   ([k)  xkao  

      (x)  /eZ     (?k)  tkfr 

 Which  of  the following is a example of community ? 

        (a)  School      (b)  Village    

              (c)    Religion  (d)   Caste. 

 35. iapo"khZ; ;kstuk izkjaHk gqvk& 

       (d) 1950   ([k)  1951  

      (x)  1952      (?k)  1953 

 Five year plan strated- 

        (a)  1950   (b)   1951     

       (c)    1952   (d)   1953. 

 36. ^gkse:y* ds laLFkkid dkSu gSa\ 

       (d)  fryd    ([k)  xka/h     

         (x)  ykyk yktir jk;  (?k)  dksbZ ugha 

 Who was the founder of  ''Homerule" ? 

        (a)  Tilak       (b)     Gandhi    

       (c)     Lala Lajpat Roy   (d)     None. 

 37. Hkhy tutkfr lacaf/r gS \ 

     (d)  fcgkj    ([k)  >kj[kaM    

  (x)  vle    (?k)  jktLFkku 

 Bheel tribe is related with ? 

        (a)  Bihar    (b)   Jharkhand      

              (c)    Assam      (d)    Rajasthan 

  

 



 38. fpidks vkanksyu lacaf/r gS& 

       (d)  i'kq    ([k)  o`{k   

      (x)  ty       (?k)  [kfut 

 Chipko movement is  related with- 

        (a)  Animal     (b)  Tree        

       (c)    Water        (d)   Mineral 

 39. iapkr;hjkt esa fdrus Lrj gS \ 

       (d)  nks  ([k)  rhu  

     (x)  pkj (?k)  ikap 

 How many  stages are therein Panchayati  Raj ? 

        (a) Two   (b)  Three     

        (c)  Four (d)   Five. 

 40. ;kstuk  vk;ksx dc LFkkfir gqvk \  

      (d)  1950  ([k)  1952  

     (x)   1955  (?k)  1960 

 When  did  planning  commission establish  ? 

        (a)  1950     (b)   1952   

        (c)    1955         (d)    1960 

   

  

 

 

 

 

 

 

 

 

 

 

 

 

 
            

 

 

 

 

 

 

 

 



 

 

      [k.M&c 
         

                             Group- B 

y?kqmÙkjh; iz'u 

Short  answer type questions 

iz'u la[;k 1 ls 10 y?kqmÙkjh; iz'u gaSA izR;sd iz'u ds fy, 03 vad fu/kZfjr gSaA 
Question nos.  1 to 10 are short answer typequestion. Each question carries 3 

marks.     

 

 

 1. iz'u%&la;qqDr ifjokj ds xqq.kkssaa dh ppkZ djsa A 

         Discuss the merits of joint family. 

2. iz'u%& ukrsnkjh dh jhfr;ksa dh ppkZ djsaA  

         Discuss the kinship usages.  

3.   iz'u%& iwokZxzg ds vFkZ dh foospuk djsaA 

           Discuss the meaning of  prejudice. 

4.   iz'u%&izkFkfed vkSj f}rh;d lewg ds vFkZ dks Li"V djsa A 

          Explain meaning of  primary and secondary group.  

5.   iz'u%& jkT; ds rRoksa dh ppkZ djsaa A 

 Discuss the elements of the state. 

6.   iz'u%& vkS|ksxhdj.k ds mn~ns';ksa dks Li"V djsaA 

 Explain the objectives of industtrialization. 

7.   iz'u%&iapk;rhjkt dks ,d f=kLrjh; O;oLFkk D;ksa dgk tkrk gS \ 

          Why Panchayati Raj is called tri-level system. 

8.    iz'u%&Hkkjr esa fodykaxrk ds izeq[k :i dkSu ls gSa \ 

 What are the categories of dissabled in India ?   

9.    iz'u%&gfjr Økafr ls vki D;k le>rs gSa \  

 What do you mean by green revolution ? 

10.   iz'u%&vusdrk esa ,drk ls vki D;k le>rs gSa \ 

           What do you mean by unity indiversity ?  

 

 
 

 

 

 

 

 

 

 

 

 



  [k.M&l 
                  Group- C 

 

nh?kZ mÙkjh; iz'u 

Long  answer type questions 

iz'u la[;k 11 ls 15  rd nh?kZmÙkjh; iz'u gaSA izR;sd iz'u ds fy, 06 vad fu/kZfjr gSaA 
Question nos.  11 to 15 are long answer type questions. Each questions carries 06 

marks.                                              
 

 11. iz'u%& tukafddh D;k gS\ tukafddh ds egRo dh foospuk djsa A 

          What is  demography ?  Discuss the importance of demography. 

 12. iz'u%& tkfr O;oLFkk esas ifjoÙkZu ds dkj.kksa dh ppkZ djsa A  

          Discuss the causes of  change in caste system. 

13.       iz'u%& i;kZoj.k vkUnksyu ds D;k vFkZ gS\ Hkkjr ds i;kZoj.k vkUnksyu dh ppkZ  djsaA  

           What is the meaning of environment movement? Discuss the environment  

 movement inIndia. 

 14. iz'u%&  Hkkjr esa gfjr&Økafr ds lkekftd&vkfFkZd ifj.kkeksa dh O;k[;k djsaA   

           Explain the socio-economic results of green revolution. 

 15. iz'u%& uxjhdj.k D;k gS\  Hkkjrh; lekt ij blds dj.k ds izHkko dk o.kZu djsaA    

          What in Urbanization ? Discuss its effects on the society. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



        [k.M&v 

            (mÙkjekyk)  

                        Group- A 

                                                  Answer Sheet 
 

 

 
       (1)&x (2)&x  (3)&[k (4)&x  (5)&d (6)&[k 

(7)&x     (8)&x     (9)&[k     (10)&d  (11)&x (12)&?k 

       (13)&?k   (14)&x (15)&[k (16)&d (17)&?k (18)&[k 

       (19)&x   (20)&?k (21)&d (22)&[k (23)&[k (24)&?k 

       (25)&x  (26)&?k (27)&[k  (28)&d  (29)&?k (30)&?k 

(31)&d (32)&x (33)&?k (34)&[k (35)&[k (36)&d 

 (37)&?k  (38)&[k   (39)&[k  (40)&d 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 
 



          [k.M&c  

       (mÙkjekyk) 

 

mÙkj 1.%& la;qqDr ifjokj Hkkjrh; xzkeh.k lekt dk ,d egRoiww.kZ LrEHk gSA la;qDr ifjokj dks 

le>s fcuk Hkkjrh; xzkeh.k lkekftd laajpuk dks le>k ugha tk ldrk gSA d`f"k iz/ku lekt 

la;qqDr ifjokj dkss ikssf"kr djrk gSA d`f"k dk;ksssaZ esaa vf/d Je dh vko';drk gksrh gS] ftlds fy, 

ifjokj esa vf/d O;fDr;kssa dk gksuk vko';d gSA bjkorh dkosZ us Li"V fd;k gS fd la;qDr ifjokj 

essa rhu ih<+h ds yksx ,d lkFk jgrs gSaA la;qqDr ifjokj ds xq.kksa dks bl izdkj Li"V fd;k tkrk 

gS]&O;fDr dk lkekthdj.k] lkekftd lqqj{kk] laLd`fr dk gLrkUrj.k] vukSipkfjd lkekftd 

fu;U=k.k] LoLFk euksjatu] lEifÙk ds foHkktu ls j{kk vkfnA bu xq.kksa ds dkj.k gh Hkkjrh; lekt 

esa la;qDr ifjokj dk vfLrRo cuk gqvk gSA vkS|ksxhdj.k] uxjhdj.k ds izHkko ds dkj.k la;qDr 

ifjokj ds lajpuk rFkk izdk;Z esa ifjoÙkZu gks jgs gSaA   

mÙkj 2.%& ukrsnkjh og O;oLFkk gSa tks tUe vkSj fookg ij vk/kfjr gksrh gSA blls cuus okys yksxksa 

ds lewg dks ukrsnkj lewg dgk tkrk gSA ,d ukrsnkjh lewg ls lacaf/r yksxksa ds O;ogkjksa dks 

fu;af=kr djus ds fy, vusd ,ssls jhfr&fjokt fodflr fd;s tkrs gSa ftuls dqN O;fDr;ksa ds chp 

?kfu"Brk c<+ lds rFkk dqN O;fDr;ksa ds chp nwjh cukbZ j[kh tk ldsA O;ogkj ds bu O;oLFkkvkas 

dks ge ukrsnkjh dh jhfr;k¡ dgrs gSaA bls ifjgkj vkSj ifjgkl dgk tkrk gSA ifjgkj dk vFkZ jksduk 

gksrk gSA lekt esa lkl vkSj nkekn ds chp iq=kc/w vkSj llqj ds chp vkil esa ?kfu"B lECkU/ ij 

jksd yxkuk ifjgkj gSA ifjgkl dh izd`fr ifjgkj ls fcYdqy fHkUu gksrh gSA ifjgkl dk vFkZ 

g¡lh&etkd gksrk gSA thtk&lkyh] nsoj&HkkHkh ds chp ds laca/ ifjgkl ds vUrxZr vkrs gSaA 

jsMfDyiQ czkmu us fy[kk gS fd ifjgkl lEcU/ nks i{kksa ds chp fe=krk c<+kus dk dke djrs gSaA   

mÙkj 3.%&tkfr&O;oLFkk Hkkjrh; lekt dh egRoiw.kZ fo'ks"krk gSA ;g lekt esas laLrj.k vkSj 

foHkktu dks Li"V djrk gSA ,d tkfr dk nwljh tkfr ds izfr lksp dks iwokZxzg dgk tkrk gSA 

iwokZxzg lkekftd vlekurk dks c<+kus esa egRoiw.kZ Hkwfedk fuHkkrk gSA vkWxcuZ us Li"V dgk gS fd 

^^iwokZxzg tYnckth esas fy;k x;k ,d fu.kZ; gS] ftldh ijh{kk fd, fcuk gh ge fdlh O;fDr ;k 

lewg ds izfr viuh jk; cuk ysrs gSaA vYiksVZ us bl laca/ esa dgk gS fd iwokZxzg dk laca/ 

fo}s"kiw.kZ Hkkouk ls gksrk gSA bl rF; dgk tk ldrk gS fd iwokZxzg ,d tkfr dk nwljh tkfr ds 

izfr og ekufld n'kk gksrh gS ftldk ;FkkFkZ ;k okLrfodrk ls dksbZ laca/ ugha gksrk gSA ;g fLFkfr 

nks tkfr;ksa ds chp lkekftd nwjh dks c<+krk gSA  

 

 



mÙkj 4. %&lh-,p- dwys egksn; us viuh iqLrd ^lks'ky vkWxsZukbts'ku* esa loZizFke izkFkfed lewg 

dh ppkZ dh gSA muds vuqlkj&^^izkFkfed lewg ls gekjk rkRi;Z mu lewgksa ls gSa ftuesa lnL;ksa ds 

chp vkeus&lkeus ds ?kfu"B laca/ ,oa ikjLifjd lg;ksx dh fo'ks"krk gksrh gSA** O;fDrRo fodkl 

esas bldh egRoiw.kZ Hkwfedk gksrh gSA ifjokj] iM+ksfl;ksa dk lewg] f[kykfM+;ksa ds lewg dks izkFkfed 

lewg ds vUrxZr j[kk tkrk gSA ckn ds fo}kuksa us izkFkfed lewg ls fHkUu fo'ks"krk iznf'kZr djus 

okys lewg dks f}rh;d lewg dk uke fn;kA f}rh;d lewg dk fuekZ.k mn~ns'; dh izkfIr ds fy, 

gksrk gSA mn~ns'; izkfIr ds ckn f}rh;d lewg dh egÙkk lekIr gks tkrh gSA f}rh;d lewg ds 

lnL;ksa ds chp ?kfu"B laca/ ugha ik;k tkrk gSA blesa ^ge dh Hkkouk* dk Hkh vHkko gksrk gSA 

tSls&fo|ky;A 

mÙkj 5. %&jkT; dh vo/kj.kk dks Li"V djrs gq, xkuZj us dgk gS&^^jkT; O;fDr;kas dk og lewg gS 

tks ,d fuf'pr Hkw&Hkkx ls lacaf/r gksrk gS] ckgjh fu;a=k.k ls iwjh rjg Lora=k gksrk gS] ftldk 

viuk ,d 'kklu ra=k gksrk gS rFkk LoHkko ls gh O;fDr;ksa esa bl 'kklu ra=k ds izfr vkKkikyu dh 

Hkkouk gksrh gSA** bl ifjHkk"kk ls jkT; ds rRoksa dh tkudkjh izkIr gksrh gSA jkT; ds pkj rRo gksrs 

gSa&tula[;k] fuf'pr Hkw&Hkkx] ljdkj rFkk lEizHkqrkA tula[;k dk vkdkj og eq[; rRo gS] ftlls 

jkT; ds HkkSfrd :i dk fuekZ.k gksrk gSA fuf'pr Hkw&Hkkx jkT; dh lhekvksa ls lacaf/r gksrk gSA 

ljdkj uhfr;ksa vkSj dkuwu ds }kjk lkekftd fu;a=k.k dh LFkkiuk djrh gSA lEizHkqrk dk vk'k; 

jkT; ds ml 'kfDr ls gS tks ckgjh fu;a=k.k ls iwjh rjg eqDr gksrk gSA  

mÙkj 6. %&vkS|ksxhdj.k lkekftd ifjorZu dh ,d tfVy izfØ;k gSA ewyr% ;g ,d vkfFkZd  

izfØ;k gS] ysfdu blds nwljk lkekftd ,oa lkaLd`frd ifjoÙkZu Hkh fn[kkbZ iM+rs gaSA vkS|ksxhdj.k  

dss eq[; :i ls mn~~ns'; ekus tkrs gSa& 

 (i) mRiknu dks c<+kuk 

 (ii) fu/Zurk dks nwj djuk 

 (iii) fons'kh fofue; dh O;oLFkk 

 (iv) jgu&lgu ds Lrj dks djuk 

 (v) yksxkas dks jkstxkj iznku djukA 

  blds }kjk ,d vksj mRiknu esa o`f¼ gksrh gS] jk"Vªh; vk; esa o`f¼ gksrh gS rks  nwljh vksj  

lekt es a c sj k stxkjh rFkk fu/Zurk dh leL;k n wj gk srh g S A bl rjg dgk tk ldrk g S  

fd vkS|ksxhdj.k vkfFkZd ds lkFk&lkFk lkekftd rFkk lkaLd`frd ifjorZu dh ,d egRoiw.kZ izfØ;k  

gSA  

  



 

mÙkj 7. %&Hkkjr esa iapk;rhjkt O;oLFkk og O;oLFkk gS] ftlds }kjk yksdrkaf=kd fodsUnzhdj.k 

dh vo/kj.kk Li"V gks srh gSA 73ok¡ lafo/ku la'kks/u fo/s;d] 1992 iapk;rhjkt O;oLFkk ls  

lacaf/r gSA bldk xBu rhu Lrjksa ij gksrk gSA xzke Lrj ij xzke iapk;r] iz[kaM Lrj ij iapk;r 

lfefr rFkk ftyk  Lrj ij ftyk ifj"kn ds :i esa dke djrk gSA ,d iapk;r ds lHkh O;Ld  

lnL; xzke lHkk ds  lnL; gksrs gSaA eqf[k;k xzke iapk;r ds iz/ku gksrs gSaA iz[kaM ds lHkh O;Ld 

lnL; iapk;r lfefr ds  lnL;ksa dk pquko djrs gSaA iapk;r lfefr ds iz/ku dks izeq[k dgk tkrk 

gSA ftyk ifj"kn~ ds iz/ku ftyk ifj"kn vè;{k gksrs gSaA ftyk ifj"kn~ dk xBu lEiw.kZ ftyk ds  

xzkeh.k  fodkl ds fy, gksrk  gSA blfy, iapk;rhjkt O;oLFkk dks ,d f=k&Lrjh; O;oLFkk dgk  

tkrk gSA    

mÙkj 8. %& jk"Vªh; uewuk losZ{k.k esas fodykaxrk ds ik¡p izdkj dk mYys[k fd;k x;k gS tks fuEu 

gS%& 

(i) n`f"V fodykaxrk%& ;g nks izdkj dh gksrh gS vkaf'kd rFkk iw.kZ n`f"V fodykaxrkA vkaf'kd 

fodykaxrk dh fLFkfr esa vkaf'kd :i ls O;fDr vk¡[k ls ns[krs gSaA iw.kZ n`f"V fodykaxrk dh 

fLFkfr esa O;fDr vk¡[k ls dqN Hkh ns[k ugha ldrk gSA 

(ii) ewd fodykaxr%& bldk laca/ gdykdj cksyus ;k fcYdqy u cksy ldus dh n'kk ls gSA 

(iii) Jo.k fodykaxrk%& ;g O;fDr dh og n'kk gS] ftlesa O;fDr dqN lqu ugha ldrk gSA 

(iv) lapyu fodykaxrk%& bldk laca/ 'kkjhfjd nks"k ls gSA bl fLFkfr esa 'kjhj ds vaxksa dk 

lapkyu ckf/kr gksrk gSA 

(v)   ekufld fodykaxrk%& bldk laca/ O;fDr ds fdlh Hkh rjg ds ekufld deh ls gksrk gSA 

mÙkj 9. %& gfjr dk rkRi;Z gjs&Hkjs [ksrks a ls gS] tcfd Økafr dk vFkZ O;kid ifjoÙkZu ls gSA  

gfjr Økafr dk 'kkfCnd vFkZ [kk|kUu mRiknu esas O;kid  ifjorZu ls gSA Hkkjr esa 1966&67 bZ- esas  

[kk|kUu leL;k dks nwj djus gsrq gfjr Økafr dh 'kq#vkr  gqbZA gfjr Økafr ds eq[; dkjdksa esa  

ladfjr cht] jklk;fud [kkn] flapkbZ dh lqfo/k]  izkS|ksfxdh vkfn vkrs gS aA gfjr Økafr dk  

ifj.kke ;g gqvk fd dqN [kk|kUu esas ge vkREkfuHkZj gks x, rFkk Hkkjr esa [kk|kUu leL;k dk gy  

gks ik;kA gekjh [kk|kUu vk;kr dh fuHkZjrk lekIr gks xbZA Hkkjr  esa bl Økafr dks ykus dk Js;  

MkW- ,e-,l- LokehukFku dks tkrk gSA gfjr Økafr ds ldkjkRed ds lkFk&lkFk dqN udkjkRed 

ifj.kke Hkh lkeus vk,A izkS|ksfxdh ds dkj.k d`"kd Jfedksa esa csjkstxkjh c<+us yxh gSA fdlkuksa ds  

chp vkfFkZd vlekurk fn[kkbZ iM+us yxh gSA vR;f/d jklkk;fud [kkn ds iz;ksx ls Hkwfe dh  

mRiknd {kerk ?kVus yxh gSA   



 

mÙkj 10. %& izkphu dky ls Hkkjr ,d cgqyoknh ns'k gSA lkekftd] lkaLd`frd rFkk HkkSxksfyd :i 

ls ;gk¡ fofHkUurk ikbZ tkrh gSaA Hkkjrh; lekt vusd iztkfr;ksa] tkfr;ksa] /eksaZ] Hkk"kkvksa vkSj fo'oklksa 

ls feydj cuk gSA Hkkjrh; lekt esas vusd lkaLd`frd lewg lkFk&lkFk jgrs gSaA tyok;q ds 

n`f"Vdks.k ls ;g lekt vusd HkkSxksfyd {ks=kksa esa c¡Vk gqvk gS rFkk fofHkUu {ks=kksa dh tula[;kRed 

fo'ks"krk,¡ ,d&nwljksa ls fHkUu gSaA bruh fofHkUurk gksus ds ckotwn Hkkjrh; lekt ,drk dk n'kZu 

izLrqr djrk gSA ;g fo'ks"krk fo'o esa Hkkjrh; lekt dks ,d vyx igpku nsrh gSA okLro esa bls 

gh vusdrk esa ,drk dgk tkrk gSA  
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       (mÙkjekyk) 

 

mÙkj 11. %& tukafddh; esas tula[;k dk oSKkfud vè;;u gksrk gSA tula[;k fdlh Hkh lekt dk 

vk/kj gksrk gSA O;fDr;ksa ds chp lkekftd laca/ ls gh lekt dk fuekZ.k gksrk gSA fdlh Hkh lekt 

dh tula[;k ljapuk ml le; dks dkiQh gn rd izHkkfor djrk gSA tukafddh dk rkRi;Z Kku dh 

ml 'kk[kk ls gS] ftlds }kjk tula[;k ds vkdkj] tula[;k laca/h fo'ks"krkvksa vkSj bu fo'ks"krkvksa 

esas gksus okys ifjoÙkZu dk vè;;u fd;k tkrk gSA lksjksfdu egksn; us fy[kk gS& ^^tukafddh og 

foKku gS tks fdlh lekt dh tula[;k ds vkdkj] ?kuRo rFkk blesa gksus okyh o`f¼ vFkok deh 

ls lacaf/r ifjoÙkZuksa dks Li"V djrk gSA   

 tukafddh dk egRo%& 

 1.   oÙkZeku le; esa fodkl ds fy, ;kstukvksa dk fuekZ.k gksrk gSA dksbZ Hkh ns'k tula[;k ds 

?kuRo] tUe nj] e`R;q nj] izokl dh nj] fyaxkuqikr dks le>s fcuk lgh dk;ZØeksa vkSj uhfr;ksa dk 

fuekZ.k ugha dj ldrk gSA 

2.  tukafddh fdlh Hkh lekt ds lkekftd&vkfFkZd fodkl dk dsUnz gksrk gSA blh ds vk/kj ij 

ge vius lk/ukas dk lgh ewY;kadu dj ldrs gSaA tukafddh tula[;k ds Lrj dks le>us esa 

vf/d lg;ksx nsrk gSA 

3.   fdlh Hkh lekt esa jkstxkj euq"; dh ekSfyd vko';drk gSA tula[;k dh fo'ks"krkvksa dh 

tkudkjh ds ckn jkstxkj ds volj c<+kus esa lqfo/k feyrh gSA 

4.     lekt esa ifjorZu ds vusd lkekftd dkj.k gksrs gSaA tula[;kRed n'kk,¡ lkekftd dkj.kksa esa 

,d egRoiw.kZ dkj.k gSA 

5.    tula[;k laca/h fo'ks"krk,¡ lkekftd laLFkkvksa] O;fDr ds O;ogkjksa vkSj lkekftd n'kkvksa dks 

cgqr vf/d izHkkfor djrh gSA ftlls lekt esa vusd izdkj dh uohu izfØ;k,¡ mRiUu gksrh gSA 

tukafddh dh lgk;rk ls ,slh leL;kvksa dks de djus dk iz;kl fd;k tkrk gSA        

 mÙkj 12. %& tkfr O;oLFkk Hkkjrh; lkekftd lajpuk dh vk/kjHkwr fo'ks"krk gSA tkfr&O;oLFkk dh 

fo'ks"krkvksa essa lekt dk [k.MkRed foHkktu] laLrj.k vuqokaf'kd lnL;rk]vUrfoZokgh gksuk] 

[kku&iku ij izfrca/ rFkk O;olkf;d foHkktu 'kkfey gSA oÙkZeku le; esa tkfr&O;oLFkk ds bu 

lkaLd`frd fo'ks"krkvksa esas dkiQh ifjoÙkZu gqvk gSA bu ifjoÙkZuksa ds fuEufyf[kr dkj.k gSa%& 



1.   Hkkjr esa Lora=krk ds ckn ,d yksdrkaf=kd vkSj /eZfujis{k jkT; dh LFkkiuk dh xbZA lafo/ku ds 

}kjk /eZ] tkfr] oa'k ds HksnHkkoksa dks lekIr djds lkekftd lekurk] U;k; ,oa Lora=krk dks egRo 

fn;k x;kA  

2.   vkS|ksxhdj.k rFkk uxjhdj.k us ,d tkfr fojks/h i;kZoj.k dk fuekZ.k fd;kA vkS|ksfxd fodkl 

ls yksxksa dks viuk tkfrxr O;olk; NksM+dj u;s O;olk; djus ds volj feysA uxjhdj.k ds 

iQyLo:i tkfr;ksa dh LFkkuh; i`Fkdrk lekIr gks xbZA 

3.   Hkkjr esa tc f'k{kk dk izlkj vkjEHk gqvk rks tkfr&O;oLFkk ls lacaf/r va/fo'oklksa dk izHkko 

lekIr gksus yxkA f'k{kk ds izHkko ls fuEu tkfr us mu czkã.k xzaFkksa dk fojks/ djuk 'kq# dj fn;k 

tks Lo;a czkã.kksa ds }kjk vius fgrksa dks lqjf{kr cuk;s j[kus ds fy, fy[ks x;s FksA 

4.    u;s lkekftd vf/fu;e tkfr&O;oLFkk ds fu;eksa ds fo#¼ lkfcr gq, fo'ks"k fookg 

vf/fu;e] 1954 ds }kjk vUrfoZokg] cfgfoZokg vkSj vuqykse dks fu;e dks ugha ekuk x;kA 

vLi`';rk vf/fu;e ds }kjk NqvkNwr lEcU/h lHkh Hksnksa dks nwj dj fn;k x;kA 

5.   fofHkUu lkekftd lq/kj vkUnksyu Hkh tkfrxr HksnHkkoksa dks nwj djus esa izHkkoh lkfcr gq,A buesa 

vk;Z&lekt] czã lekt] jked`".k fe'ku tSls laxBuksa dh Hkwfedk egRoiw.kZ gSA 

mÙkj 13. %& ekuo vkSj i;kZoj.k ds chp xgjk laca/ gSA i;kZoj.k dk rkRi;Z mu lHkh izkd`frd 

vkSj lkekftd n'kkvksa ls gS tks ekuo thou ds pkjksa vksj ls ?ksjs jgrh gSA ekuo us vius fodkl 

ds Øe esa izkd`frd lalk/uksa tSls&ou] ty] Hkwfe] [kfut inkFkZ vkfn dk vlhfer mi;ksx fd;k 

gSA blls izd`fr vlarqfyr gks pqdh gSA ck<+] lw[kk] vf/d o"kkZ] de o"kkZ] tSls izkd`frd ladV 

mRiUu gks jgs gSaA izd`fr ds vlarqyu dks nwj djus gsrq ,d uohu psruk dk fodkl gqvk gS vkSj 

,d vkUnksyu dh 'kq#vkr gqbZ gS] ftls i;kZoj.k vkUnksyu dgk tkrk gSA 

 i;kZoj.k laj{k.k vkUnksyu dh 'kq#vkr ewyr% jktLFkku ls ekuh tkrh gSA jktLFkku ds 

[kstjyh xk¡o esa i;kZoj.k vkUnksyu izkajHk gqvkFkkA fo'uksbZ tkfr ds yksx ogk¡ ds isM+ksa dks nsork 

ekurs gSaA muyksxksa us egkjktk dks isM+ dkVus ls euk dj fn;kA ve`rk ckbZ uked efgyk us bl xkao 

ls i;kZoj.k vkUnskyu dh 'kq#vkr dhA 

 mÙkj izns'k ds peksyh ftyk ls fpidks vkUnksyu dh 'kq#vkr gqbZA peksyh ds taxy 

esa ydM+h dkVus dk fojks/ ogk¡ dh fL=k;ksa us fd;kA cpuh nsoh vkSj xkSjk nsoh us bldk usr`Ro 

fd;kA mÙkj izns'k esa gh p.Mh izlkn HkV~~V ds usr`Ro esa taxy cpkvks vkUnksu u, :i esas lkeus 

vk;kA fpidks vkUnksyu ds lkFk&lkFk ogk¡ ^o`{k yxkvks vkUnksyu* Hkh izkjaHk gqvkA iz[;kr i;kZoj.k 

oknh lqUnjyky cgqxq.kk us i;kZoj.k cpkvks vkUnksyu dks izkjaHk fd;kA 



 i;kZoj.k vkUnksyu ls lacaf/r ,d vU; izeq[k i;kZoj.koknh fopkjd es/k ikVdj gSA 

mUgksaus ueZnk unh ij cuus okys ck¡/ dk fojks/ djrs gq, ^ueZnk cpkvks vkUnksyu* dh 'kq#vkr dhA 

blh vkUnksyu ds izHkko ls ueZnk ?kkVh {ks=k esa i;kZoj.k vlarqyu dh leL;k dks jksdus esas liQyrk 

feyhA  

mÙkj 14. %& Hkkjr esa [kk|kUu leL;k ls fuiVus ds fy, 1966&67 esas gfjr Økafr izkjaHk gqbZA bl 

Økafr dks Hkkjr esa ykus dk Js; MkWú ,eú ,lú LokehukFku dks tkrk gSA bl dk;ZØe ds vUrxZr 

d`f"k ds fofHkUu lk/uksa tSls&ladfjr cht] flapkbZ] jklk;fud mojZd rFkk dhVuk'kd nokvksa dk 

,d lkFk iz;ksx fd;k x;kA blls iQlyksa ds mRiknu esa vHkwriwoZ o`f¼ gqbZA 

        gfjr Økafr dk yksxksa ds lkekftd&vkfFkZd {ks=kksa ij izHkko iM+k gSA bl laca/ esa vkanzs csars 

us dgk gS& ^^gfjr Økafr us Hkkjrh; fdlkuksa dh lfØ;rk esas ,d u;k fo'okl txk;k gS] D;ksafd 

blus u dsoy rduhdh uokpkj dks 'kh?kzrk ls vkRelkr djus dh {kerk fn[kkbZ gS] cfYd 

lkekftd izca/ksa dks fuiq.krk ds lkFk lapkfjr Hkh fd;k gSA** gfjr Økafr ls iSnk gksus okys 

ldkjkRed ifjoÙkZuksa dks fuEukafdr :i ls le>k tk ldrk gS%& 

1.   gfjr Økafr ds iQyLo:i fdlkuksa dh eukso`fÙk;ksa esas ifjoÙkZu gksus yxkA muesa ubZ tkx:drk 

iSnk gqbZ gSA vius vf/dkj dks le>us yxs gS rFkk 'kks"k.k dh fdlh Hkh n'kk esa vkUnksyuksa ds }kjk 

bldk fojks/ djrs gSaA 

2.   xzkeh.k thou esa vc lkekftd vkSj vkfFkZd lEcU/ksa dk ,d u;k :i lkeus vk;k gSA vc 

fdlku O;kikfjd iQlyksa dk mRiknu djus yxs gSaA O;kikfjd iQlyksa ds mRiknu ls xzkeh.k thou esa 

Hkh f}rh;d rFkk vkSipkfjd lEcU/ksa dk izHkko c<+us yxk gSA 

3.   xzkeh.kksa dh ekufldrk esa ifjoÙkZu gksus ls dk;Z dq'kyrk esas o`f¼ gksus yxh gSA xzkeh.k vc 

d`f"k ls lacaf/r ubZ rduhdksa rFkk dk;Z ds <axksa dks lansg ls ugha ns[krsA vf/d&ls&vf/d 

tkudkjh ysus esa :fp ysus yxs gSaA 

4.   gfjr&Økafr dk ,d lkekftd ifj.kke xzkeh.kksa esas LFkku&ifjoÙkZu dh izo`fÙk dk c<+uk gSA 

vf/dka'k fdlku vc uxj esa vkdj fofHkUu laxBuksa ls d`f"k ds ckjs esa ubZ tkudkfj;k¡ ysus dk 

iz;Ru djrs gSaA 

mÙkj 15. %& 

        uxj cuus dh izfØ;k dks uxjhdj.k dgk tkrk gSA bl izfØ;k esa u dsoy uohu uxjksa 

dh LFkkiuk gksrh gS] cfYd xk¡o rFkk dLcs Hkh uxjksa dk :i /kj.k djus yxrs gSaA uxjhdj.k dh 

izo`̀fr ij ogk¡ dh ifjfLFkfr;ksa ,oa fo'ks"krkvksa dk izHkko iM+rk gSA Fkkelu ds 'kCnksa esa & ^^eq[; 

:i ls ;k iw.kZ :i ls lacaf/r leqnk;ksa ls yksxksa dk mu lkekU;r% cM+s leqnk;ksa esas iyk;u gh 



uxjhdj.k gS] ftlesa fØ;k;sa eq[; :i ls ljdkj] O;kikj] mRiknu ;k mlls lacaf/r fgrksa esa dsfUnzr 

gksrh gSA** Hkkjrh; lekt ij uxjhdj.k ds izHkko dks bl izdkj Li"V fd;k tk ldrk gS%& 

1.    n`f"Vdks.k dh O;kidrk%&  

    uxjhdj.k ds ifj.kkeLo:i fofHkUu izns'kksa ds fHkUu&fHkUu jhfr&fjoktksa] ijEijkvksa ds yksx 

,d&nwljs ds lEidZ esa vkrs gSaA lapkj ,oa vkokxeu ds lk/u lqyHk gksus ds dkj.k ogk¡ O;fDr 

ns'k&fons'k dh ckrksaa ls fujUrj voxr gksrk jgrk gS] ftlls mldk n`f"Vdks.k O;kid gksrk pyk 

tkrk gSA 

2.    vuqdwyu {kerk esa o`f¼%&  

    uxjh; thou fofo/rkiw.kZ rFkk vusd fHkUurkvksa ls ;qDr gksrk gSA fofHkUu /eksaZ] Hkk"kkvksa] 

jhfr&fjoktksa vkfn ds yksxksa dks ,d lkFk jguk iM+rk gS] ftlds iQyLo:i muesa ,d&nwljs ds lkFk 

lkeatL; LFkkfir djus dh {kerk esa o`f¼ gksrh gSA 

3.    vkRefuHkZjrk dh Hkkouk dk fodkl%&  

    uxjh; thou esa izfrLi¼kZ vf/d gksrh gSA lkeqnkf;d Hkkouk ds {kh.k gksus ds dkj.k ogk¡ 

O;fDr dks vius Åij gh fuHkZj jguk iM+rk gS] ftlds iQyLo:i mleas vkRefuHkZjrk rFkk 

vkRefo'okl dh Hkkouk fodflr gksrh gSA 

4.    dqjhfr;ksa dh lekfIr%&  

    uxjhdj.k ds iQyLo:i lkekftd ifjoÙkZu'khyrk c<+rh gSA rkfdZd fparu dk fodkl gksrk 

gSA vr% cky&fookg] inkZizFkk] ngst] fo/ok iqufoZokg ij fu"ks/ tSlh dqjhfr;k¡ lekIr gks tkrh gSA 

5.    lkeqnkf;d Hkkouk esa deh%&  

    uxjh; thou eq[; :i ls O;fDroknh gksrk gSA O;fDrxr vf/dkjksa rFkk nkf;Roksa dks lkewfgd 

fgrksa dh vis{kk vf/d egRo fn;k tkrk gS] ftlds ifj.kkeLo:i ogk¡ lkekftd thou dk fodkl 

ugha gks ikrk gS rFkk lkeqnkf;d Hkkouk de gksus yxrh gSA 
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                        Group- A 
                                          (Objective Type Questions) 
  

Answer  each question by selecting the correct choice. 
 
1. ª  

Indian National Congress established on-
(a)     1857 (b) 1885  

        (c)     1947 (d) 1905
.

Which of the following is related with Demography ? 
  (a)   Study of Environment (b)  Study of population 
  (c)   Study of forest (d) Study of water 
 3.  

 Who has given the concept of machanical solidarity and organic solidarity ? 
        (a)  Max Weber (b)  Pareto  
        (c)  Merton (d)  durkheim 

4.

Which of the following characteristics of Urban community ? 
        (a)  Mobility  (b)  Division of Labour   
        (c)  Specialization  (d)  All of these 



5. ¼¼

Who is the propounder of racial theory of caste systeme ? 
        (a)  Risley (b)   Ghurye  
        (c)  Nesfield (d)  A.R. Desai 
 6. ª

Who is the author of the book "The elementry forms of religious life" ?
(a)     Morgan (b) Risley  

  (c) Spencer (d) Durkheim  (c) Spencer (d) Durkheim
 7.

ª

Which of the following stands for 'NGO' ? 
  (a)   National Government Organization    (b)  Non-Govt. Organization 
  (c) Non-Govt. Order    (d)   None of these
 8.

Which of the following  related with secondary sector ?
(a)     Agriculture (b) Bussiness  

  (c) Service (d) Industry  (c) Service (d) Industry
 9.

In which article of the constitution untouchability has been prohibited ?
(a)     Article 23 (b) Article 14  

  (c) Article 25 (d) Article 17
 10.



Which one of these is not a problem of tribal society ? 
  (a)   Untouchability (b)  Land alienation 
  (c)  Deforestation  (d)     All of these 
 11.

Who was the chairman of Mandal commission ? 
  (a)   B. P. Mandal  (b)  Bindeshwari Dubey 
  (c) Manganilal Madal (d) None of these 
 12.

What percentage of total seats reserved for women in Gram Panchayat in Bihar ?
(a)     25 % (b) 33 %  

  (c) 67 % (d) 50 %
 13.

¡ ¡ ¡ ¡

¡ ¡

Which constitutional amendment increased the women representation of local   
  Panchyat ? 
  (a)   51th and 52th  (b)  73th and 74th 
  (c)   81th and 82th  (d)     None of these
 14. ª

Which of the following is dangerous for National Integration?
(a)     Communalism  (b) Secularism  (c) Both (a) and (b) (d) None of these

 15.

Which year  on the basis of language reorganization of states were done ?
(a)     1965 (b) 1960  

   (c)    1955 (d) 1958



 16.

Which of the following characteristics is not related to tribal economy ?
(a)     Profiting (b) Barter  

  (c)   Subsistence (d) Division of labour
 17.

Which of the following is the Primary source of personal study
(a)     Observation  (b)   Diary  

  (c)     Personal letter  (d)   None of these
 18.

Who has given  the concept of 'Dominant Caste'? 
  (a)   A. R. Desai  (b)  M. N. Sriniwas 
  (c)   G. S. Ghurey  (d)     S. C. Dubey 
 19.

When Panchayati Raj Act. passed in India ?
(a)     1959 (b) 1951  

  (c)     1952 (d) 1958
 20.

  Who is the chairman of Panchayat Samiti ? 
  (a)   B.D.O.  (b)  Mukhia 
  (c)   Pramukh  (d)      C.D.O. 
 21.



  What is the main catalyst of Green Revolution ? 
  (a)   Fertile Land  (b)  Rain 
  (c)  Chemical fertilizer and seeds (d)     Education 
 22.

In which state land reform is more successful ?
(a)     Uttar Pradesh (b)  Bihar  

  (c)     West Bengal (d)  Madhay Pradesh
 23.

¡

What is the model of Indian systeme of economy ?
(a)     Capitalistic (b) Mixed  

  (c)     Socialistic (d) Communistic
 24.

ª

ª

  Which among the following is the important motivation of Globalization ? 
  (a)   Search of market      (b)  Multinational Investment 
  (c)   Technology, Electronic and computers        (d)     All of these 
 25.

Which of the following is related with Globilazation ?
(a)     Liberalization  (b) Modernization 

  (c)    Westernization  (d) Industrilization
 26.

¡

Who is the founder of peasant movement ? 
  (a)   Mahatama Gandhi (b)  Jawaharlal Nehru 
  (c) Sahjanand Saraswati (d) Sardar Patel



 27.

Who was the father of self respect movement ? 
  (a)   Ram Manohar Lohia (b)  Ramaswami Nayakar 
  (c)   Karpoori Thakur (d)     Kanshi Ram 
 28.

What is the most important characteristic of Indian Society ? 
  (a)   Unity  of diversity (b)  Varn Vavyastha 
  (c)   Yajmani system (d)     Above all 
 29.

Name of the tribe who started the Jaharkhand Movement in India ?
(a)     Gond  (b)    Bhil  

  (c)     Naga  (d)   Santhal
 30.

Who has given the concept of Marginal man ?
(a)     Merton (b)   Johnson  

  (c)     Parsons (d)   Marx
 31.

Who was the founder of Arya Samaj ? 
  (a)  Ram Mohan Roy (b)  Govind Ranade 
  (c)  Dayanand Saraswati (d)      Narayan Joshi 
 32.



Which of the following is characterstics of tribe ? 
  (a)   Common area (b)  Common language 
  (c)   Common culture (d)     All of these 
 33.

Which of the following related with Khera movement ? 
  (a)   Peasant movement (b)  Tribal movement 
  (c)   Independence movement (d)      None of these
 34.

Which of the following is regional Party ? 
  (a)   Congress  (b)  B.J.P. 
  (c)   Telegu Desham (d)     Communist Party 
 35.

 When special marriage Act. was passed ?
(a)     1955  (b) 1961   

  (c)     1954  (d) 1946  
 36.

Medha Patekar is related with ? 
  (a)   Environment movement (b)  Dalit Movement 
  (c)   Peasant Movement (d)     Student Movement 
 37.

Whose name is associated with abolition of Sati Systeme ? 
  (a)   Dayanand Saraswati (b)  Swami Vivekanand 
  (c)   Swami Agnivesh (d)      Raja Ram Mohan Roy 
  
 



 
 38. ¡

The Indian Political Structure indicates ? 
  (a)   Centralism  (b)  Authoritarianism 
  (c)   Federalism  (d)     All of these 
 39.

 In Which tribes Polyandry found ?
(a)     Munda  (b)   Khas  

  (c)     Toda  (d)  Santhal
 40.

ª

What is the basis of determination of minority community in India ? 
  (a)   Nationality  (b)  Religion 
  (c)   Race  (d)     Language 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

 
                             Group- B 

 
Short  answer type questions 

1 10 03  
Question nos.  1 to 10 are short answer typequestion. Each question carries  
3 marks.    
 
1. 

Give the definition of community 

Write short notes on Tribal Religion.

What do you mean by castism ?

What is women Empowerment ?

Explain any three program which contributed to green-revolution in India.

 What do you mean by pressure group ?

 What is Democratic Decentralization ?
¡

What are the main problems of urbanization in India ?

Explain the categories of kinship.

 Why did Bottomore said, "Sociology is the child of revolution" ?

          
 
 
 
 



 
Group- C 

 
 

Long  answer type questions 
11 15 06  

Question nos.  11 to 15 are long answer type questions. Each questions carries 06 
marks. 
 

How did colonialism affect the Indian social systeme ? 
¼¼

Write the population theory of "Malthus".
¡

Is the tribal problems based on acculturation? Discuss it. 

What efforts has been taken by Government for gender quality. 

What is the difference between political party and pressure group ?
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    SET-V 
              SOCIOLOGY 
               A- Soc (opt) 
 

(Time 3 Hours  15 Minutes)                                Marks 100)
 

Instructions to the candidate- 
1.  
     Candidate are requested to give their answers in their own words as for as possible. 

     Figures in the right hand margin indicate full marks. 

Write groups number and questions number with every answers.

4.   General Instruction- 
            The paper consists of three group i.e. A, B and C. All questions of all group compulsory. 
Group  A  :   All the  40 question  are  to be answered in group A. Each question carries 1 mark. 
Group  B   :  Answer all the 10 questions  in group B. Each question carries 3 marks. 
Group  C :  Answer all the five question in group  C.  Each question carries 6 marks. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
   



  
                        Group- A 
                                          (Objective Type Questions) 
  

Answer  each question by selecting the correct choice. 
 

 
1.  

ª

Colonialism is the result of which mindset ?
(a)     Socialism    (b)   Humanism 

  (c)     Internationalism   (d)  Imperialism  (c)     Internationalism   (d)  Imperialism
2.

What is  the total population of India on the basis of census 2011 ? 
  (a)   98 Cr.                           (b)  108 Cr. 
  (c)   115 Cr.                          (d)      121 Cr. 
 3.  

 Who said "caste is a closed" class ? 
        (a)  Majumdar and  Madan  (b)  Risley  
        (c)  G.S. Ghurey     (d)  K.L. Sharma 

4.

Who has  given the concept of 'Rural-Urban continuity' ? 
        (a)  S.C. Dubey     (b)  Sorokin  
        (c)  Red Field        (d)  Comte 

5.



Uncle comes  under which category of Kinship ? 
        (a)  Primary (b)   Secondary  
        (c)  Third (d)    None of these 
 6.

What is the basis of social stratification in Indian Society ? 
(a)     Properly (b)  Caste  

  (c)     Family (d)  Religion
 7.

Which  is the largest  tribal group af India ? 
  (a)   Santhal    (b)   Munda 
  (c)   Bhil    (d)   Gond
 8. ¼

In which year "Mahila Samridhi Yojna' was started ? 
(a)    1991 (b)  1993 

  (c)   1990 (d)   2000
 9.

From the following who is the first Chairman of 'backward class' ?
(a)     Mungerilal      (b)   Kaka Kalelkar  

  (c)    Karpoori thakur    (d)   B.P. Mandal
 10.

In Indian constitution Article 334 is related with ? 
  (a)   Right of Education              (b)     Fundamental Duties 
  (c)   Crime                        (d)     Reservation for shedule caste / Tribe 



 11.

In which  year Indian Government established first minority commission ? 
  (a)   1978  (b)  1972 
  (c)   1988  (d)      1999 
 12. ª

Nationalism means ?
(a)     Common social background       (b)  Common caste background 

  (c)      Common geographical background    (d)   None of above.
 13.

The characterstics of Democracy is- 
  (a)   Equality before law (b)   Universal Franchise 
  (c)   Freedom of Press (d)   All of these
 14.

Who said, "Sociology is the child of revolution" ?
(a)     Lerner    (b) Bottomore    

  (c)     Marx    (d) Durkhaim  (c)     Marx    (d) Durkhaim
 15.  

In India in which state urbanization affectted more ?
(a)     Bihar (b) West Bengal  

  (c)    Jharkhand (d) Madhya Pradesh
 16. ¼¼  



Who said. 'Urbanism is a way of life" ?
(a)     Burgel (b)     Wirth  

  (c)     Ross (d)      Carpernter  (c)     Ross (d)      Carpernter
 17.

Who has given the concept of "Westernization" ?
(a)     M. N. Sriniwas                        (b)       A. R. Desai  

  (c)     S. C. Dubey                        (d)       G.S. Ghurey  (c)     S. C. Dubey                        (d)       G.S. Ghurey
 18.

In which year Janta Party established ? 
  (a)   1949 (b)  1950 
  (c)  1966              (d)  1977 
 19.

which of the following is the branch of the Gram-Panchayat ?
(a)     Gram Sabha (b)      Gram Kachahri 

  (c)     Both (d)      None of these
 20.

  Who has given the concept of Sankritization ? 
  (a)   S. C. Dubey                  (b)     Yogendra Singh 
  (c)   M. N. Srinawas             (d)     K. L. Sharma 
 21.

  In which year Zamindari Abolition Act. Passed ? 
  (a)   1951  (b)     1955 
  (c)   1948              (d)      1961 
  
 



 
 22.

Which of the following is the fourth pillar of Democracy-
(a)     Mass media (b)  Parliament 

  (c)    Cabinet (d)   Judiciary systeme
 23.

Which of  the following is related with market system ? 
(a)    Competition (b)     Division of Labour 

  (c)    Contract (d)    All of these.
 24.

  Ghotul is found in which tribe ? 
  (a)   Gond (b)     Santhal 
  (c)   Munda           (d)     Bhil 
 25.

Who had led the Tana-Bhagat movement ?
(a)     Jatra Bhagat (b)    Birsa Munda 

  (c)    Sidho, Kanho (d)     Karia Munda
 26. ª

When the New National Population Policy was announced ? 
  (a)   1999 (b)     2000 
  (c)    2001 (d)     2002
 27.



When was the Dowry prohibition act enacted ? 
  (a)   1995 (b)    1956 
  (c)   1959 (d)    1961 
 28.

ª

Who gives the recognition to the political parties in India ? 
  (a)   President  (b)    Supreme court 
  (c)   Parliament (d)     Election commission 
 29.

Which period in Indian History is known as the "Black Era" for women in India ?
(a)     Rig Vedic Period               (b)  Later Vedic period 

  (c)     Medieval period                (d)  British period
 30.  

The concept of peasant society has been given by ?
(a)    Robert Redfield             (b)    Maciver and page  

  (c)    Levis Kozer             (d)     Merton
31.

Chipko movment is related with ? 
  (a)  Protection of animals (b)  Protection of water 
  (c) Protection of tree (d)     Protection of minerals 
 32.

How many stages are of Panchyati Raj ? 
  (a)   1  (b)  2 
  (c)    3  (d)  4 
 
 



 33.

Caste system doesnot allow to marriage out of caste ? 
  (a)   True  (b)  Flase 
  (c)   Both  (d)     None of these
 34.

Which state of following has lower literacy ? 
  (a)   Kerala  (b)  Bengal 
  (c)  Uttar Pradesh  (d)     Bihar 
 35.

 When  was the non co-operation movement started ?
(a)     1920      (b) 1922   

  (c)    1930  (d) 1925  
 36.

Which of the following is known as an instruments of social change ? 
  (a)   Directive principle  (b)  Fundamental right 
  (c)   Fundamental duities          (d)       All. 
 37.

Differntly abled is related with- 
  (a)   Scheduled Caste (b)  Sheduled tribe 
  (c)  Handicapped   (d)     None. 
 38. ¡



How many categories of Kinship in India ? 
  (a)   One (b)   Two  
  (c)   Three  (d)   None.  
 39. ¼

 Which of the folllowing is the causes of population growth in India ? 
(a)     Child Marraige      (b)    Lack of education  

  (c)     Poverty      (d)   All of these.
 40.

Which of the following is the function of Family ? 
  (a)   Socialization  (b)   Social protection 
  (c)   Informal Social Control (d)   All of these. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 

 
                             Group- B 

 
Short  answer type questions 

1 10 03  
Question nos.  1 to 10 are short answer typequestion. Each question carries  
3 marks.    
 
 
1. ª

What is nationalism ? 

What is the meaning of Neo-colonialism ?

What is the relation between demographic and social life ?

What is the difference between Rural and Urban society-

Discuss the main characteristics of joint family.

How does caste systeme represents closed stratification in India ?

 What is commoditization ?

What is Chipko movement ?

What do you mean by Infotenment ?

 Discuss the importance of secularism in Indian Society.
  

 
 
 
 
 



 
 
 

          Group- C 
 

 
Long  answer type questions 

11 15 06  
Question nos.  11 to 15 are long answer type questions. Each questions carries 06 
marks. 
 

Define Modernization. How did modernization affect the Indian Social 
Structure ? 

¼¼

Discuss the different theories of the origin of caste systeme.

Discuss the different types of joint family. 

What is right to information Act.?  Explain it.

Discuss the role of the state in plural and unequal society. 
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    SET-VI 
              SOCIOLOGY 
               A- Soc (opt) 
 

(Time 3 Hours  15 Minutes)                                Marks 100)
 

Instructions to the candidate- 
1.  
     Candidate are requested to give their answers in their own words as for as possible. 

     Figures in the right hand margin indicate full marks. 

Write groups number and questions number with every answers.

4.   General Instruction- 
            The paper consists of three group i.e. A, B and C. All questions of all group compulsory. 
Group  A  :   All the  40 question  are  to be answered in group A. Each question carries 1 mark. 
Group  B   :  Answer all the 10 questions  in group B. Each question carries 3 marks. 
Group  C :  Answer all the five question in group  C.  Each question carries 6 marks. 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 



 
 
                         

  
                        Group- A 
                                          (Objective Type Questions) 
  

Answer  each question by selecting the correct choice. 
 

 1.

 Which is institution ? 
        (a)  Family            (b)    Political Party    
        (c)    Market            (d)    Prison 
 2.

 Who gave Concept of  In group and Out groups ?  
        (a)  Simmel         (b)    Sumner    
        (c)    Small           (d)    Sorokin 
 3.

 Which is not a Chaarcetristics of Village Community ? 
        (a)  Agricultural System          (b)    Superstition  
        (c)    Jajmani System           (d)     Formal relationship 
 4.

       Which one of the following is not a characteristics of joint family ? 
 (a)    Common  property           (b)    Common  kitchen    

        (c)    Limited size            (d)    Definite hierarchy its members. 
 
 



 5.

 What is the cause of deterioration in status of women ? 
 (a)     Child Marriage           (b)    New Legislation    

        (c)     British Impact            (d)    All of these. 
 7.

 "Cooperation is Peaceful Conflict" Whose Statement is this ? 
        (a)  MacIver           (b)    Green    
        (c)    Dahrendorf            (d)    Max Weber 
 8.

 Which  is / are the fundamental element/s of Community ? 
        (a)  Social group           (b)    We feeling    
        (c)    Definite territory           (d)    All the above. 
 9.

 Rural Society is - 
        (a)  Simple Society           (b)    Complex Society    
        (c)    Primitive Society            (d)    Hetrogeneous Society. 
 10.

 Sociology is the study of- 
        (a)  Socio-Political Institutions           (b)    Political System  
        (c)   Human behaviour            (d)    Society. 
 11. ¼¼

  



 Who presented analysis is of two types of society-Militant & Industrial ? 
        (a)  Auguste Comte           (b)    Sorokin   
        (c)    Durkhiem            (d)    Spencer. 
 12.

 Of the following  who regards sociology both as a Science and as an Art ? 
        (a)  Bierstedt           (b)    Bottomore    
        (c)    Karl Pearson           (d)    Kingsley Davis. 
 13.

 Society is - 
        (a)  Concrete                (b)    Abstract    
        (c)    Both Concrete & Abstract         (d)    Ideal. 
 14.

 Of the folllowing which is the example of  Community ?  
        (a)  Prison             (b)    Caste    
        (c)   Audience             (d)    Travellers. 
 15.

        
 Association is- 

        (a)  Abstract            (b)    Concrete    
        (c)    Both abstract &Concrete          (d)    Spatial. 
 16.

 Of the following which is not an example of Institution ? 
        (a)  Gymnasium                (b)    Marriage    
        (c)    Legislature            (d)    College. 
  
 



 
 17.

 Who has classified groups as : 'Primary group' and 'Secodnary group' ? 
        (a)  Cooley             (b)    Sumner    
        (c)    Gillin  & Gillin            (d)    Miller. 
 18.

 of which language is the word 'Casta' ? 
        (a)  Greek          (b)    German    
        (c)    Latin          (d)    Portugese. 
 19. ¼¼

¼¼ ¼¼

¼¼ ¼¼

 Which  Theory of origin of Caste System is propounded  by Nesfield ? 
        (a)  Racial Theory            (b)    Occupational Theory    
        (c)    Traditional Theory           (d)    Religious Theory. 
 20.

 "We call that household a family which has greater generation depth (that is or 
more) than the Nuclear family ......." Who has viewed like this ? 

        (a)  Karve         (b)    Desai          
       (c)    Dubey          (d)    Kapadia. 
 21.



 Of the following which is not a cause of disorganization of joint family ? 
        (a)  Industrial Revolution          (b)    Social Legislation   
        (c)    Impact of western ideas        (d)    Climate. 
 22.

 Which is not an example of Consanguineous kinship ? 
        (a)  Parents & Children relation 
        (b)    Brothers & Sisters relation  
        (c)    Maternal Uncle  and  nephew relation 
        (d)    Mother-in-law and  daughter -in-law relation. 
 23.

 The example of father-son relation falls under which category of consanguineous 
kinship ? 

        (a)  Primary         (b)   Secondary         
       (c)     Tertiary          (d)   Fourth. 
 24.

 Of the following who mentioned about Primary Cooperation, Secondary 
Cooperation  and  Tertiary Cooperation ? 

        (a)  Ogburn & Nimkoff          (b)    Green    
        (c)    Kingsley Davis            (d)    MaCIver & Page 
 25.

 Who is the author  of the book " The Decline of the West' ? 
        (a)  Spengler         (b)   Jonson     
       (c)      Moore        (d)    Green. 



 
 
 26.

 Who is the author of the book' Social Change' ? 
        (a)  Kingsley Davis          (b)    Ogburn    
        (c)    Max Weber            (d)    Sorokin. 
 27.

 The type of smapling in which each unit of the whole is provided equal 
opportunity of being seletced, is called ? 

        (a)  Purposive Sampling           (b)    Random Sampling   
        (c)    Census            (d)    Stratified Samling. 
 28.

 Progress means- 
        (a)  Change in any direction    (b)    Westernization 
        (c)    Change in a  definite desirable direction   (d)    Modernization. 
 29.

 To the Sociologist religion is - 
        (a)  Social Phenomenon            (b)   Personal Phenomenon 
        (c)    Public Phneomenon            (d)    Cultural Phenomenon. 
 30.

 The Concept of Purity and Pollution is a feature of- 
        (a)  Varna Sustem           (b)    Caste System 
        (c)    Jajmani System           (d)    Purusharha. 
 



 
 
 31.

 Who believes that Caste is a Psych Phenomena based on the Concept of Purity & 
Pollution ?   

        (a)  S.C. Dubey          (b)    G.S. Ghurye 
        (c)    Louis Dumont       (d)    M.N. Sriniwas.  
 32.

 Which of the following State was the first to enforce Panchyati Raj ?  
        (a)  Madhya Pradesh              (b)    Bihar 
        (c)    Rajasthan                  (d)   Uttar Pradesh. 
 33.

 Concept of 'Sanskritization' is  propunded by ? 
        (a)  S.C. Dubey          (b)    A.R. Desai 
        (c)    Karve          (d)   M.N. Srinivas. 
 34.

 Social Mobility in the Caste System through the process of Sanskritization is - 
        (a)  Only a Cultural  Change 
        (b)    Only a Positional Change 
        (c)    Only a Structural Change  
        (d)   None of the above. 
 35.



 Society & Culture are- 
        (a)  Two aspects of the same Phenomenon 
        (b)    Two different Phenomenon 
        (c)    Two opposite Phenomenon 
        (d)    None of above. 
 36.

 By which Constitutional Amendment the Panchayati Raj System was given a 
constitutional Status ?  

        (a)  45th Amendement          (b)    73rd Amendment 
        (c)    61st Amendement      (d)    None of the above. 
 37.

 In which year the term 'Sociology' was Coined ?  
        (a)  1798         (b)   1815 
        (c)    1838         (d)   1857. 
38.

 If a woman has more than one husband and all the husbnads are brothers, this 
martriage will be known as ? 

        (a)  Non-fraternal Polyandry          (b)    Fratrernal Polyandry 
        (c)    Anuloma marriage                     (d)    Exogamy. 
 39.

 'We belong to associations, not to institution who said it ? 



        (a)  Davis            (b)    Lundberg 
        (c)    Maciver &  Page          (d)    Merton. 
 40.

 Who is the largest Tibal Group of India ?  
        (a)  Santhal         (b)    Munda 
        (c)    Bheel         (d)    Gond. 
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Short  answer type questions 

1 10 03  
 Question nos.  1 to 10 are short answer typequestion. Each question carries 3 

marks.             
 
  
 
 1.

What is the difference between  caste &  tribe ? 
 2.

What is Sanskritzation & Westernization ? 
 3.

Discuss the main features of  modernization ? 
 4.

Define communalism ? 
 5.

Write the types of Hindu marraige ? 
 6.

What is PMRY ? 
 7. ª

What is hurdle element of National Integration ? 
 8.

What is function of joint family ? 
 9.

What is the meaning of  religion ? 
 10. ¡



Discuss the meanings of 'Rural-Urban Continuum. 
 
 
 

          Group- C 
 

 
Long  answer type questions 

11 15 06  
 Question nos.  11 to 15 are long answer type questions. Each questions carries 06 

marks.                                   
 
 11.

Distinguish between Rural and Urban Community  ? 
 12.

Discuss the main features  Characteristics of Caste System ? 
 13.

Define  Tribe and Write its main Problems. 
 14.

Write the main Characteristics of Indian Joint Family. 
 15.

Discuss the Impact of Sanskritization. 
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              SOCIOLOGY 
               A- Soc (opt) 
 

(Time 3 Hours  15 Minutes)                                Marks 100)
 

Instructions to the candidate- 
1.  
     Candidate are requested to give their answers in their own words as for as possible. 

     Figures in the right hand margin indicate full marks. 

Write groups number and questions number with every answers.

4.   General Instruction- 
            The paper consists of three group i.e. A, B and C. All questions of all group compulsory. 
Group  A  :   All the  40 question  are  to be answered in group A. Each question carries 1 mark. 
Group  B   :  Answer all the 10 questions  in group B. Each question carries 3 marks. 
Group  C :  Answer all the five question in group  C.  Each question carries 6 marks. 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 



 
 
                         

  
                        Group- A 
                                          (Objective Type Questions) 
  

Answer  each question by selecting the correct choice. 
 
 

 1.

 Which  one of the following is not the Characteristics of the Social Class ? 
        (a)  Classs Concioussness           (b)    Achieved membership  
        (c)   Based on birth             (d)    Open System.  
 2.

 How  many Characterstics of Caste System have been described by G.S.  
 Ghurye ? 

        (a)  4         (b)    6    
        (c)    8           (d)    10 
 3.

 Which  Statement is not Correct amongst the following ? 
        (a)  Restriction  on food are found in the caste system 
        (b)    Caste system is based on birth 
        (c)    Hierarchy is not found in the Caste system 
        (d)    Hierarchy is found in the Caste system. 
 
 
 



 
 4.

When a boy marries a girl belonging to lower Caste group than his own, such a 
marraige is known as ? 

        (a)  Exogamy               (b)    Partiloma marriage 
        (c)    Anuloma marriage            (d)    Endogamy. 
     5.

 "Religion is the belief in spiritual beings" who has defined religion like this ?  
 (a)   Cuber           (b)    Hoebel    

        (c)    Tylor           (d)    Johnson. 
 6.

 Who studied 'Arunta' tribe ?  
        (a)  Max Muller             (b)    Dukhiem 
        (c)    Karl Marx           (d)   Tylor 
 7.

 Who is related with Animism ? 
        (a)  Max Muller            (b)    Tylor  
        (c)   Weber             (d)    Durkhiem 
 8.

 Who  is  the author of the book "Kinship Organization in India" ? 
        (a)  M.N. Srinivas          (b)    Irawati Karve  
        (c)    Robin Fox          (d)    None of the above. 



 9.

 Who has discussed "Idealistic Culture"  ?  
        (a)  Gillin & Gillin                (b)    Sorokin    
        (c)    Ogburn           (d)    MacIver & Page. 
 10.

 Amitate is related to-    
        (a)  Father's Sister or bua          (b)    Maternal Uncle or Mama 
        (c)    Pregnancy            (d)    Teknonymy. 
 11.

 In which  year was dowry Prohibition Act Passed  ? 
        (a)  1956          (b)    1961   
        (c)    1976          (d)    1982. 
 12.

 The  Smallest Unit of Culture is Called  ?   
        (a)  Cultural Element           (b)    Cultural   Complex 
        (c)    Cultural  Area            (d)    Cultural  Pattern. 
 13.

  Which of the following is the example of Secondary Group  ?  
        (a)  Family             (b)    Peer Group    
        (c)    Neighhbourhood           (d)    None of these. 
 14.

  



 
 Which is not the Characetristics of Rural Community ?   

        (a)  Agricultural System           (b)    Caste System  
        (c)    Jajmani System             (d)    Formal Relation. 
 15.

 Who has given the Concept of 'Gemeischaft & Gesellchaft' ? 
        (a)  Bogardus              (b)    Giddings   
        (c)    Tonnies           (d)    Kingsley Davis. 
 16.

 Who is the author of the book 'Indian Village' ? 
        (a)  Desai          (b)    Dubey    
        (c)    Mathur           (d)    Mackim Marriot. 
 17.

 Who  is the author of the book "Marriage & Family in India" ?  
        (a)  I.P. Desai             (b)    K.M. Kapadia  
        (c)    Iravati Karve           (d)    P.N. Prabhu. 
 18.

 Of  the following which is the reason for opposition to Social Change ? 
        (a)  Igrorance             (b)    Vested interest  
        (c)    Tradition           (d)    All these. 
 19.

 Which  is not an economic Problem among Scheduled Caste ? 
        (a)  Poverty                       (b)    Less Wages    
        (c)    Restriction on Chossing occupation         (d)    Untouchability. 
  



 
 
 20.

  Which type of Social  Control are Sacraments ? 
        (a)  Formal        (b)    Secondary          
        (c)    Imposed             (d)    Informal. 
 21.

 Of the following which is not a Characteristics of Urban Community ? 
        (a)  Industrial Revolution    (b)    Artificiality 
        (c)    Individualism     (d)    Predominance of Primary relations. 
 22.

 The cause of the revolt among Santhals, HU, Naga Tirbe are ?  
        (a)  Conflict           (b)    Acculturation  
        (c)    Competition           (d)    Contra Vention. 
 23.

 The example of father-son relation falls under which category of consanguineous 
Kinship ? 

        (a)  Primary           (b)   Secondary         
       (c)     Tertiary            (d)   Fourth. 
 24.

 
 



 
 Which is not an example of Consanguineous Kinship ? 

        (a)  Parent & Children relation        
        (b)    Brothers & Sisters relation    
        (c)    Maternal  Uncle & nephew relation             
        (d)    Mother in-law-daugthers-in-law relation. 
 25.

 Who do not Practice Polyandry marriage  among tribes ? 
        (a)  Toda             (b)       Nairs     
      (c)      Khasas             (d)      Khasis. 
 26.

 Of the folloing which is not a casue of disorganziation of joint family ? 
        (a)  Industrial revolution &urbanization          (b)    Impact of Western ideas 
        (c)    Social Legislation            (d)    Climate. 
 27.

 Of  the following which is not an aim of marriage accodring to Murdock  ?   
        (a)  Sexual Satisfaction                   (b)    Economic Co-operation   
        (c)    Socialization & rearing up of Children         (d)    Quarreling. 
 28.

 'Family of orientation' is that in which- 
        (a)  One is born           (b)    One is reared up 
        (c)    One is educated           (d)    One is matured. 
 29. ¼¼

¼¼ ¼¼

¼¼ ¼¼



 Which theory of origin of Caste system is Propunded by Nesfield ?  
        (a)  Racial Theory             (b)   Occupational Theory 
        (c)    Traditional Theory            (d)    Religious Theory. 
 30.

 Which one of the following  is not an indicator of Cultural diversity in India ? 
        (a)  Race          (b)    Caste  
        (c)    Class                  (d)     Religion. 
 31.

 Which one of the following institutions is not associated with agrarian Social 
System ? 

        (a)  Caste        (b)    Joint family 
        (c)    Tertiary Industry     (d)    Cottage Industry.  
 32.

% %
% %

 Kaka Kalelkar recommended Reservation for  OBC ? 
        (a)  30%       (b)    27%         
        (c)    35%       (d)   50%. 
 33.

 Which of  the  following is not a Primary group ? 
        (a)  Scouts             (b)   A peer group 
        (c)    A class of students           (d)   Family. 
 34.



¡

 Which of the following refers to gender equity ? 
        (a)  Economic empowerment 
        (b)    Equalitarin relationship 
        (c)    Women's freedom & liberty  
        (d)   Equal access to power &other resources. 
 35.

 Which one of the following is not resistance to Social Change ? 
        (a)  Economic Cost          (b)    Economic comptetion 
        (c)    Vested Interest            (d)    Inertia. 
 36.

 Which one of the following is not an element of Community ?  
        (a)  Territory                 (b)    We feeling 
        (c)    Cultural diversity      (d)    Self-Sufficiency. 
 37.

 Which one of the following is not an element of rural community  ?  
        (a)  We feeling            (b)   Cultural diversity 
        (c)    Territory              (d)   Self-Sufficiency. 
 38. ¡

 Drug de-addiction centre provide which of the following facilities ? 
        (a)  Counselling          (b)    Medical assistance 
        (c)    Yogic excercise              (d)    All of the above. 
 39.



 The Temporary form of marriage found among muslim is called ? 
        (a)  Nikah          (b)    Mutah 
        (c)    Mehar           (d)    Pardah. 
 40.

 Which is the main Purpose of Panchayati  Raj ? 
        (a)  To increased agricultural Production 
        (b)   To  create employment 
        (c)    To make people politically concious 
        (d)    To make people participate in development administration. 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
                                 Group- B 

 
Short  answer type questions 

1 10 03  
 Question nos.  1 to 10 are short answer typequestion. Each question carries 3 

marks. 
 
 1.

What is religion ?  Write its dysfunction. 
 2.

Define Poverty. 
 3.

What do you mean by Middle Class ? 
 4.

What is Social Stratification ? 
 5.

Write the objective of Hindu marriage. 
 6.

Write the main characetristics of  Indian Culture. 
 7.

Write the types of Kinship. 
 8.

Write short notes on marriage in contemporary India. 
 9.

What is the role of economic factor in social change  ? 
 10.

Discuss the  functions of social stratification. 
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Long  answer type questions 

11 15 06  
 Question nos.  11 to 15 are long answer type questions. Each questions carries 06 

marks.                                   
  
 11.

Describe  mobility in rural social stratification.  
 12.

What do you mean  by communalism ? Write its Characteristics. 
 13.

Describe the classification of  tribal India on the basis of language. 
 14.

Explain the Impact  of  Panchayati Raj System on rural life.  
 15.

Describe the cultural characteristics of  North  India. 
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  SET-VIII 
              SOCIOLOGY 
               A- Soc (opt) 
 

(Time 3 Hours  15 Minutes)                                Marks 100)
 

Instructions to the candidate- 
1.  
     Candidate are requested to give their answers in their own words as for as possible. 

     Figures in the right hand margin indicate full marks. 

Write groups number and questions number with every answers.

4.   General Instruction- 
            The paper consists of three group i.e. A, B and C. All questions of all group compulsory. 
Group  A  :   All the  40 question  are  to be answered in group A. Each question carries 1 mark. 
Group  B   :  Answer all the 10 questions  in group B. Each question carries 3 marks. 
Group  C :  Answer all the five question in group  C.  Each question carries 6 marks. 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 



 
 
                         

  
                        Group- A 
                                          (Objective Type Questions) 
  

Answer  each question by selecting the correct choice. 
 1.

 Which one of the following is factor of westernziation ? 
        (a)  Radio           (b)   Television    
        (c)    Newspaper        (d)    All of these. 
 2.

 Founder of Chipko movement. 
        (a)  Medha Patekar            (b)    Swami Agniwesh     
        (c)    Sunderlal Bahuguna         (d)    None of these. 
 3.

 Land reforms has been most successful in ? 
        (a)  Karnatka         (b)    West Bengal  
        (c)    Madras         (d)    Uttar Pradesh 
 4.

 Which one of the following of backwardness  of  Tribe ? 
        (a)  Religion         (b)    Illiteracy 
        (c)    Forest         (d)    Both (b) and (d) 
 
 
 



 
     5.

 Which one the following form of Tribal Religion ? 
 (a)   Animism           (b)   Naturalism    

        (c)    Totemism             (d)    None of these. 
 6. ª

¼ ¡

(A) B
 Which among the following are obstacles in the Path Way to Nation building in 

India? 
 (a)   Hierarchical Social Order          (b)   Economic  inequalities   

        (c)   Both (A) and (B)           (d)   Wetsern educated leladership. 
 7. ª

 Who  among the following Sociologist has studies Indian National Movement by 
using Marxian Perspective ?  

        (a)  Ram Krishna Mukherjee        (b)    A.R. Desai 
        (c)    Bipin Chandra             (d)   D.N. Dhangare 
 8.

¼

 Which  one of  the following factors Contributes to 
  regional disparities in India ?  

        (a)  Population  Growth           (b)    Sex Ratio    
        (c)    Economic  developmment         (d)    None of  these. 
 9.

 Who is the author of "Bharat mein Jativad Aur Harijan Saamasya" ? 



        (a)  K. Bharti             (b)    Jagjeevan Ram    
        (c)    S.C. Dubey         (d)    K. Nath. 
 10.

 Casteism is called- 
        (a)  Discrimination against own Caste        (b)    Attachment with other  Caste 
        (c)    Faith in own caste           (d)    All of the. 
 11. ª

 Which of the following facctors are obstacles  
 to National Integration ? 

               (a)  Casteism           (b)    Regionalism 
        (c)    Coomunalism          (d)    Alchoholism. 
        Select the correct answer by using the codes given below- 
        (a)  (1) and (2)        (b)    (2) and (3)  
        (c)    (1), (2) and (3)        (d)    (2), (3) and (4) 
 12.

 Which factor is responsible for  'Educated Unemployment' ? 
        (a)  Traditional form of Agriculture       (b)    Defective  Education System  
        (c)    Unorganized Agriculture         (d)    None of these. 
 13.

¼

 Which of the following effects  of Drug Addiction are- 
        (a)  Increase in Crime            (b)    Ill-effects on Health 
        (c)    Encouragement of  family disorganization       (d)    All of these. 
  
 



 
 
 
 14. ¼¼

 Who propounded the theory of 'Historical Materialism' ?   
        (a)  Karl  Marx          (b)    Max Weber 
        (c)    Durkhiem          (d)    R.K. Mukherjee. 
 15.

¡

 Which of the following are the Characteristics of Westerization ? 
        (a)  Process of Social Change       (b)    Conscious and Unconscious Process 
        (c)    Values  Preferences          (d)    All of these. 
 16.

 Whioch of  the following are the Characetristics of Sanskritization ? 
        (a)  Collective Process of change   (b)    It is not confirned to Hindu Caste only 
        (c)    Process of Social Mobility        (d)    All of the above. 
 17.

 Who  gave the Concept of Sanskritization ? 
        (a)  Yogendra  Singh          (b)    M.N. Srinivasan 
        (c)    B.R. Chauhan           (d)    S.C. Dubey. 
 18.

 Which  of  the following is the Change Promoting movement ?  
        (a)  Women  Liberation Movement       (b)    Dalit  movement 
        (c)    Literacy  movement           (d)    All of the above. 
 
 



 
 
 
 19.

 Who  has used the Concept of  "Technological Lag" ? 
        (a)  Ogburn &Nimkofff          (b)    Maciver & Page    
        (c)    Gillin & Gillin           (d)    None of these. 
 20. ª

 When was "National Women Commission established in India" ? 
        (a)  1990        (b)   1991       
        (c)    1992          (d)    1993. 
 21. ¼¼

 Which  of the following Asshrams instructs to have a Control over the senses 
 and to develop the intellect ?  

        (a)  Brahmacharya Ashram        (b)    Gorihastha Ashram   
        (c)    Vanaprastha Ashram         (d)    Sanyasa Ashram. 
 22.

 When was the  'Community Development Programme'.  
 Started in India ? 

        (a)  1948         (b)    1951  
        (c)    1950         (d)    1952. 
 23.  

 Which one is not the Characterstics of  Indian Village Life ? 
        (a)  Joint family          (b)    Castesim & CasteSystem 



              (c)    Jajmani System                    (d)    Formality. 
 
 
 24.

 Name the system in which various castes exchange their traditional  
 Services with one another ? 

        (a)  Assimilation            (b)    Jajmani     
        (c)    Sanskritization           (d)    Accultration. 
 25.

 When was " The untouchability  (offences) Act' Passsed ? 
        (a)  1950         (b)   1955     
        (c)    1956        (d)    1958. 
 26.

 Who was the  Chairman of the first 'Backward Class Commission' 
 in India ?  

        (a)  B.P. Mandal        (b)    B.R. Ambedkar 
        (c)   M.K. Gandhi        (d)    Kaka Kalelkar. 
 27.

 In which Article of the Indian Constitution the term 'Backward Class' has been 
used ?   

        (a)  Article - 16(4)           (b)    Article - 14 (4)   
        (c)    Article - 18 (2)           (d)    Article-17 
 28.

 Who  Called Scheduled Tribes as 'Backward Hindus' ? 



        (a)  Hutton         (b)    B.R. Ambrdkar 
        (c)    G.S. Gurye        (d)    M.S. Gore 
 
 29.

 Untouchability was abolished by which Article of the Constitution ?  
        (a)  Article - 25           (b)   Article-29 
        (c)    Article-330           (d)    Article-17. 
 30.

 What is the basic of Status determination in Caste System ?  
        (a)  Religion          (b)    Karma 
        (c)    Birth              (d)    Ability. 
 31.

 Who established Harijan Sewak sangh ?  
        (a)  S.C. Dubey          (b)    Mhatma Gandhi 
        (c)    B.R. Ambedkar         (d)    Jyotiba Phule  
 32. ª

 Who gave the suggestion of 'National Park' the Government for the tribal 
development in India ? 

        (a)  N.K. Bose              (b)   Elwin 
        (c)    D.N. Majumdar           (d)   None of  the these. 
 33.

 The term  'Girijan' is used for- 
        (a)  Backward         (b)    Scheduled Tribe 
        (c)    Scheduled Caste       (d)   All of the above. 
 



 
 
 34.

  Which  of the following the Characetristics of Dharma ?  
        (a)  Belief in Super natural  Power       (b)    Concept of Purity 
        (c)    Worship             (d)   All  of the above. 
 35. ¼¼

 Who Propounded  the 'Social Theory of Religion'  ? 
        (a)  Parsons             (b)    Spencer 
        (c)    Durkhiem         (d)    Max Muller. 
 36.

 Which of the following group is the exmaple of 'Dvijas' ? 
        (a)  Brahmins, Kshatriyas &Shudras 
          (b)    Brahmins, Vaishyas & Shudras 
        (c)    Brahmins, Kshatriyas & Shudras 
       (d)    Kshtriyas, Vaishyas & Shudras. 
 37.

 The head of a joint Hindu family is called- 
        (a)  Jajman         (b)   Parijan 
        (c)    Purohit         (d)   Karta 
 38.

 Which  one of the following is a Sacramental marriage ? 
        (a)  Muslim Marriage        (b)    Christian Marriage 
        (c)    Hindu Marraige                (d)    Love Marriage. 
  



 
 
 
 39.

 A Nuclear family consist of husband, wife and their- 
        (a)  Married Children            (b)    Unmarried Children 
        (c)    Married son  & Unmarried daughters        (d)    None of the above. 
 40.

 The most Common rule of Exogamy is - 
        (a)  Racial taboo           (b)    Class taboo 
        (c)    Incest taboo           (d)    Caste taboo. 
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Short  answer type questions 

1 10 03  
 Question nos.  1 to 10 are short answer typequestion. Each question carries 3 

marks.             
 
 1.

Define the meaning  of Secularization. 
 2.

What is  the main methods of Kinship ? 
 3.

Write the function of religion.  
4.

Define the corruption. 
 5.

What is the function of  joint family ? 
 6.

Discuss the types of marriage of  Indian Tribe ? 
 7.

What is the difference between endogamy & exogamy ? 
 8.

Discuss the main trends of Urbanization in India ? 
 9.

What is the importance of Planned Change.? 
 10.

What is  cultural change ? 
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Long  answer type questions 

11 15 06  
 Question nos.  11 to 15 are long answer type questions. Each questions carries 06 

marks.                                   
 
 
 11.

Write short essay in finding on unequality in caste system.  
 12. ª ª

Explain how communlism is barrier in nation building  (National Interation) ? 
 13.

Discuss the class system in rural India. 
 14.

Explain the cultural diversity of Indian Society. 
 15.

Explain the Social causes of  Poverty in India. 
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   SET-IX 
              SOCIOLOGY 
               A- Soc (opt) 
 

(Time 3 Hours  15 Minutes)                                Marks 100)
 

Instructions to the candidate- 
1.  
     Candidate are requested to give their answers in their own words as for as possible. 

     Figures in the right hand margin indicate full marks. 

Write groups number and questions number with every answers.

4.   General Instruction- 
            The paper consists of three group i.e. A, B and C. All questions of all group compulsory. 
Group  A  :   All the  40 question  are  to be answered in group A. Each question carries 1 mark. 
Group  B   :  Answer all the 10 questions  in group B. Each question carries 3 marks. 
Group  C :  Answer all the five question in group  C.  Each question carries 6 marks. 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 



 
 
                         

  
                        Group- A 
                                          (Objective Type Questions) 
  

Answer  each question by selecting the correct choice. 
 

1.

Chipko Movement is related with 
  (a)   Protection of trees (b)  Protection of water  
  (c)   Protection of  animals (d)     Protection of minerals

2.

How many stages are there in Panchayati Raj ?
(a)  Two (b) Three  

       (c)  Four (d) Five
 3.  

 Who is define "Caste is a immobile class" ? 
        (a)  Maciver (b)  Rizley  
        (c)  Hutton (d)  C.H. Cooley 

4.

When "Nil Movement" start in Champaran? 
        (a)  1917  (b)   1918   
       (c)  1919 (d)  None of these 



5.

When Arya Smaj was established ? 
        (a)  1875 (b)   1879  
        (c)  1882 (d)  1884 
 6.

Who has given the concept of westernisazation ?
(a)     Yodendra Sing     (b)   S.C. Dubey  

              (c)     Srinivas     (d)   Yogesh Patel
 7. ª

When New Population Policy was announced ?
(a)     1999 (b) 2000  

       (c)     2001 (d) 2002
 8.

Who is called the father of Sociology ?
(a)     August Compte          (b)     Spencer   

        (c)    Marx            (d)    Max weber
 9.

Who has written "The family" ? 
  (a)   Berges & Lock (b)  Iliot and Metil 
  (c) Agborn and Nimcoff (d) Martin and Numecher
 10.



Five years plan started in India ? 
        (a)  1950 (b)   1951  
        (c)  1952 (d)  1954 
 11.

¡

Which is the example of Community ? 
        (a)  School (b)   Village  
        (c)  Religion (d)    Caste 
 12.

Untouchability is related with ?
(a)     Class system  (b)     Property   

        (c)    Caste system (d)    Slavery System
 13.

Who is author of the book "Caste and Race in India" ?
(a)     Hutton (b) Michael  

              (c)   Chooley (d) Ghuriay              (c)   Chooley (d) Ghuriay
 14.

Which one is weekly market ? 
  (a)   Held two times in a week (b)  Held one time in a week 
  (c) Held one time in a week (d) Held three times is a week
 15. Family Kinship and Marriage in India

ª

Who is the author of "Family Kinship and Marriage in India" ? 
 (a)     Curvey  (b)     Kaparia   
 (c)    Desai  (d)    Peterisia Oberai
  
 



 16.

Which playing role in social change- 
(a)     T.V. (b) Newspaper  

  (c)  Radio (d) All of these
 17.

Today the main problems of Tribals ?
(a)     Poverty (b) Child labour  

        (c)   House (d) De-Sanskritization
 18.

¡

Which type of model of Indian Economy ?
(a)     Capitalistics (b) Mix Economy  

  (c)     Sociolish (d) Communist
 19.

Who is the author of sociology and Philosophy ? 
(a)     Durkheim (b)  MacIver  

       (c)      Fried (d)  Colley       (c)      Fried (d)  Colley
 20.

  The smallest type of  family is known as ? 
  (a)   Nuclear family (b)  Paternity family 
  (c)  Matrernity  family (d)     Joint family 
 21.



Which one is not type of social stratisfication ?
(a)    Slavery sysytem (b) Caste system 

  (c)   Community  (d) Class 
 22.

¡

Who started Bhudaan Andolan ? 
  (a)   Lokmanya Tilak (b)  Binoba Bhave 
  (c) Mahatma Gandhi  (d)      Rajendra Prasad 
 23.

Which type of family is favourable for agriculture ? 
  (a)   Nuclear family (b)  Joint family 
  (c) Mix family  (d) All of these 
 24.

The word Demography is used by whom ?
(a)     Guilard (b) Sorokin  

       (c)    Lewis (d) Warkle
 25.

What is the main causes of increasing population in India ?
(a)     Illiteracy (b) Poverty  

  (c)   Urbanisation (d) Nucleare family  (c)   Urbanisation (d) Nucleare family
 26.

When Sharda Act. Was Passed  ?
(a)     1829 (b) 1929  

       (c)     1954 (d) 1955
  
 



 27.

What is the main charactrisrtic of Indian Society ? 
  (a)   Strength in Diversity (b)  Varna System 
  (c)  Jajmani system (d)     All of these  
 28.

Which type of process  prejuidice ? 
  (a)   Positive  (b)  Normal 
  (c)  Formal  (d)     Negative 
 29.

¼

The main demerits of Caste Systems ? 
  (a)   Untouchability (b)  Social Exploitation 
  (c)   Increasing mobility (d)     None of these 
 30.

Which problem decreases production in agriculture ? 
  (a)   Industrilization (b)  Urbanization 
  (c)   Natural disaster (d)     All of these 
 31.

Main forms of Tribal Marriage ? 
  (a)   Intercaste marriage  (b)  Pologamy 
  (c)   Sawaprawar Intercaste marriage  (d)     None of these 
 32.



Up coming of which industry started Industreal revolution ? 
  (a)   Steel Industry (b)  Cotton Industry 
  (c)   Leather Industry (d) Oil Industry 
 33.

Earlier scheduled Tribe were called by which of the following ?
(a)     Tribal (b)    Wild caste  

        (c)     Jungli caste (d)    All of these
 34. Social change in Modern India

M.N. Srinivas book 'Social Change in Modern India' describe about which of the 
following ideas ? 

  (a)   Caste is a close system (b)  Caste is a open system 
  (c)   Limit chance of mobility (d)      More chance of mobility 
 35.  

Who is the Presidend of Mandal Commision ? 
  (a)   B.P. Mandal  (b)  Bindeswari Dubey 
  (c)   Manganilal Mandal (d)     None of these 
 36. ¡

What is the charactristics of Indian caste system- 
  (a)   Intercaste marriage (b)  Fixed occupation 
  (c)   Changing nature (d)     A and B both 
 37.

What is the characteristics of demography - 
  (a)   All equal before law (b)  Vote for all 
  (c)   Freedom of Press (d)     All of the above 



 38.

¡

Who is the founder of Homerule ? 
  (a)   Lala Lajpat Rai (b)  Bal Gangadhar Tilak 
  (c) Mahatma Gandhi (d) None of these 
 39. Caste

 The word of 'Casta' of caste from which language ?
(a)     Latin        (b)    French  

  (c)    Roman        (d)    Purtgali
 40.

Which one is Social problem ? 
  (a)   Love marriage (b)  Urbanization 
  (c)   Begging  (d)      Modernization 
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Short  answer type questions 
1 10 03

Question nos.  1 to 10 are short answer typequestion. Each question carries 3 
marks.             
 
1. 

What is Endogamy ? 

What is Colonialism ? What do you mean by it ?

Discuss the social discrimination.

What do you mean by Urban & Rural Society ?

What do you mean by minority ?

What is the meaning of means of  media ?

What are the main aims of constitution in India ?

What do you mean by joking relations ? 

Why Panchayati Raj is called Tri Level System ?

What is the meaning of Democratic Decentralisation ?
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Long  answer type questions 
11 15 06  

Question nos.  11 to 15 are long answer type questions. Each questions carries 06 
marks.                                  
11.
          Describe the causes and effects of Chipko Andolan ? 
12. ª

          How Regionalism Obstacles in National Unity ? 
13.
          Explain the status of women in Modern India ? 
14.
          What is Colonialism? Explain the causes of Colonial rule in India. 
15.
          Define the  joint family. Are joint families breaking down in India? Justify . 
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   SET-X 
              SOCIOLOGY 
               A- Soc (opt) 
 

(Time 3 Hours  15 Minutes)                                Marks 100)
 

Instructions to the candidate- 
1.  
     Candidate are requested to give their answers in their own words as for as possible. 

     Figures in the right hand margin indicate full marks. 

Write groups number and questions number with every answers.

4.   General Instruction- 
            The paper consists of three group i.e. A, B and C. All questions of all group compulsory. 
Group  A  :   All the  40 question  are  to be answered in group A. Each question carries 1 mark. 
Group  B   :  Answer all the 10 questions  in group B. Each question carries 3 marks. 
Group  C :  Answer all the five question in group  C.  Each question carries 6 marks. 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 



 
 
                         

  
                        Group- A 
                                          (Objective Type Questions) 
  

Answer  each question by selecting the correct choice. 
 

 1.

In which Article untouchability is prohibitted in our constitution ? 
  (a)   Article-23  (b)  Article-14  
  (c)   Article-17  (d)     Article-25

2.

Indian people mainly depend upon-
(a)   Service  (b) Agriculture 

  (c)   Ocupation (d)  Industry  (c)   Ocupation (d)  Industry
 3.  

 Which one is a caste- 
        (a)  Vaisya (b)  Rajput  
       (c)  Sudra (d)  All of these 

4.

Which one is not the problem of Tribal Society ? 
        (a)  Untouchebility  (b)   Land degradation   
       (c)  Deforestation  (d)   All of these. 



5.

One characterstic of Indian Rural Communities- 
        (a)  Equal Fixed Land     (b)     Communitical Unity  
        (c)  Importance of Primary Relationship (d)  All of these. 
 6.

Which of the following state had maximum success in land reformation ?
(a)     Uttar Pradesh        (b)   Bihar  

        (c)    Bengal     (d)   Madhya Pradesh
 7. ¼¼  

Who gave the 'looking glass self theory' of socialization.
(a)     Emile Durkeim      (b)   Chrales Cooley  

       (c)      R.K. Merton      (d)    Sigmund Fraid
 8.

The backward class commission under the chairmanship of B.P. Mandal was  
  set up by the Union Govt. in.

(a)     1979 AD  (b)    1981 AD   
        (c)    1980  AD  (d)    1884  Ad
 9.

ª

Who is the author of Culture and Society ? 
  (a)   Mrrril and Eldidge (b)  Botomore 
  (c)   Morgan  (d)     Devis
 10.



In how many categories Hindu is devided by Caste ? 
        (a)  1 (b)   2  
        (c)  4 (d)  None. 
 11.

Which  year is declare as differently Disabled. 
        (a)  1982 (b)   1984  
       (c)  1971 (d)      1981 
 12.

Accodring to Manu Smriti how many types of Hindu Marraige are there ?
(a)     12  (b)    8   

        (c)      4 (d)    2
 13.

In which year Bramh Samaj was  established ?
(a)     1830 (b)  1838  

       (c)     1838 (d)  1884
 14.

Who is the author of the book "Caste and Class in India" ? 
  (a)   G.S. Ghurie              (b)   Comte 
  (c)   Spencer            (d)     Yogendra Singh
 15.

Who says social change means the change in social relationship ? 
  (a)    Maciver & Page       (b)   Redfield  
  (c)   Jonson         (d)    Compte



 16.

In which year  Quit India Movement  Passed- 
(a)     1942 (b)   1945  

       (c)     1940 (d)    1935
 17. ¼

Which one is not a cause of growth in population-
(a)     Illiteracy          (b)    Poverty  

       (c)      Child marriage         (d)    Education
 18.

When  was family planning started-
(a)     1952  (b)   1955 

       (c)     1962 (d)   1959
 19.

When all  India womens conference was  established-
(a)     1927 (b)  1929  

      (c)       1935 (d)   1942
 20.

  In which state backward class movement started- 
  (a)   Bihar               (b)   West Bengal 
  (c)    Andhra Pradesh        (d)    Tamilnadu 
 21.



Who was the  Chairman of Mandal  Commission ? 
(a)    B.P. Mandal                (b)   Bindeshwari Dubey 

  (c)    Mangni Lal Mandal        (d)    None of these. 
 22.

In which state of India population of  Christians is the  most ? 
  (a)   Bihar           (b)   Madhya Pradesh 
  (c)   Kerela      (d)   Tamilnadu 
 23.

In which state 'Nayar' named caste is found ? 
  (a)   Keral  (b)   Karnataka 
  (c)   Tamilnadu  (d)    Andhra Pradesh 
 24.

Which of  the following Tribes are most populated tribes of  India ?
(a)     Santhal (b)   Munda  

        (c)     Bhul (d)  Gond        (c)     Bhul (d)  Gond
 25.

What is the  purpose of Hindu Marriage ?
(a)     Development of Person (b)   Social Duties  

       (c)     Family Duties  (d)   All of these.
 26. 'First Principles'  

Which word is used  first time in the Spencor's book 'First Principles'  ?
(a)     Institution (b)   Committee  

  (c)     Prmary Group (d)  Caste 



 27.

(a)  (b)
According to Tylor which one is the primary form of family  ? 

  (a)   Patriarchy    (b)  Matriaarchy 
  (c)   Both   (d)     None.  
 28.

In which state of India Hindu  People are  in Minority Section ? 
  (a)   Keral          (b)    Punjab 
  (c)  Jammu &  Kashmir (d)    Haryana 
 29.

Where does industrial  revolution  come first ? 
  (a)   In America  (b)  In  England 
  (c)   In  France  (d)     In  Japan 
 30.

Which is known as fourth pillar of democracy. 
  (a)   Mass Media  (b)  Parliament 
  (c)   Judiciary  (d)     Council of Ministers 
 31.

Colonialism is related to- 
  (a)   Capitalism  (b)  Socialism 
  (c)   Communism  (d)    Imperialism 
 32.



Acculturation is related to- 
  (a)   Health  (b)  Economy 
  (c)   Culture  (d)     Agriculture 
 33.

¼¼

What is thee meaning of secularism  ?
(a)     Coexistence  of different religion     (b)   Respect for other religions 

  (c)    The state not  having its own religion    (d)   All of these
 34.

The class system not contains the features of ? 
  (a)   Heredetary  (b)  Competition 
  (c)   Openness  (d)      Fixed occupation 
 35.  

In which year is declared as 'Women empowerment year' ? 
  (a)   2000  (b)  2001 
  (c)   2004  (d)     2010 
 36.

Who has given the concept of Marginal Man ? 
  (a)   Robert Park  (b)  Ogburn and Nimcoff 
  (c)   Morgan  (d)     Joinson. 
 37.

Who has addressed the word depressed caste in the place of untouchable caste ? 
  (a)   Jayotiba Phoole (b)  Mahatma Gandhi 
  (c)   Majumdar  (d)    J.H. Hulton 
 
 



 38.

Article 365 is related with- 
       (a)     Lok Shaba and Rajya Sabha  
       (b)     Declare to any tribe to shceulded tribe 
       (c)     Give importance to ST in Civil Services 
       (d)     Different Minsitry for tribes welfare. 
 39.

 Who said, "City is a society  those members  are related with each other with  
  soliderity "  ?

(a)    Durkhiem      (b)     Lumis  
       (c)     Bergal     (d)     Sims
 40.

The Characterstics of   Media- 
  (a)   Its nature is organized  
  (b)   This is a process 
  (c)   The means of social and cultural change   
       (d)    All of these. 
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Short  answer type questions 
1 10 03

Question nos.  1 to 10 are short answer typequestion. Each question carries 3  
marks.     
1.

Drefine  the joint family. 
2. 

Give the Defination of community ? 
3. 

What do you mean by dominant caste ? 
4. 

What do you mean by unity in diversities ? 
5. 

What is the process of Sanskritization ? 
6. 

What is the meaning of land reform ? 
7. 

What do you mean by environment ? 
8. 

What do you mean by Globalization ? 
9. 

What is the meaning or marginlization ? 
10. 

What is the relevance of the word differently abled ? 
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Long  answer type questions 

11 15 06  
Question nos.  11 to 15 are long answer type questions. Each questions carries 06 
marks.  
                                
11.
          Wht is Modernization ? Discuss the impacts of Modeniazation on Indian  

Society.  
12.
          What do you mean by education? Discuss the characterstics. 
13.
          What is the meaning of Westernization ? Discuss the effects of Westernization. 
14.
          What do you mean by state? What is the essential elements of the state. 
15. ¼

          Discuss the effects of over popolation on society.  
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